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COST OF CAPITAL

The Capital structure of PQR Ltd. is as follows:

®)
10% Debenture 3,00,000
12% Preference Shares 2,50,000
Equity Share (face value X 10 per share) 5,00,000
10,50,000

Additional Information:

(i) 100 per debenture redeemable at par has 2% floatation cost & 10 years of maturity.
The market price per debenture is ¥ 110.

(ii)) T 100 per preference share redeemable at par has 3% floatation cost & 10 years of
maturity. The market price per preference share is ¥ 108.

(iii) Equity share has X 4 floatation cost and market price per share of X 25. The next year
expected dividend is % 2 per share with annual growth of 5§%. The firm has a practice
of paying all earnings in the form of dividends.

(iv) Corporate Income Tax rate is 30%.
Required:
Calculate Weighted Average Cost of Capital (WACC) using market value weights.
[Jan 21 (10 Marks)]

ANSWER:
Workings:
1. Costof Equity (K) = —2— + g = —>— 1 0.05 = 0.145
' osto ClUlY(e)—PO_F g = 1514 T 0:05 = 0.145 (approx.)
I(1-1t) + (RV — NP)
2.  Cost of Debt (Kg) = o
2
(100 — 98)
10(1-0.3) + ——= 7402
= (1002+ o = 55— 0-073 (approx.)
pp + RV -NP)
3. Cost of Preference Shares (K,) = —
2
(100 — 97)
12+ —>— 12403
-~ = ses = 0.125 (approx.)

2

Calculation of WACC using market value weights

1
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Source of capital Market Weights After tax WACC (K.,)
Value cost of
capital
®) (a) (b) (c) =(a) * (b)
10% Debentures (% 110 x 3,000) 3,30,000 0.178 0.073 0.013
12% Preference shares (X 108 x 2,500) | 2,70,000 0.146 0.125 0.018
Equity shares (X 25 x 50,000) 12,50,000 0.676 0.145 0.098
18,50,000 1.00 0.129

WACC (Ko) = 0.129 or 12.9% (approx.)

[e¥3 Indel Ltd. has the following capital structure, which is considered to be optimum as on
31st March, 2021:

Particulars ®)
14% Debentures 60,000
11% Preference shares 20,000
Equity Shares (10,000 shares) 3,20,000
4,00,000

The company share has a market price of ¥ 47.20. Next year dividend per share is 50% of
year 2020 EPS. The following is the uniform trend of EPS for the preceding 10 years which
is expected to continue in future.

Year EPS () Year EPS ()
2011 2.00 2016 3.22
2012 2.20 2017 3.54
2013 2.42 2018 3.90
2014 2.66 2019 4.29
2015 293 2020 4.72

The company issued new debentures carrying 16% rate of interest and the current market
price of debenture is X 96.

Preference shares of ¥ 18.50 (with annual dividend of ¥ 2.22 per share) were also issued.
The company is in 30% tax bracket.

(A) CALCULATE after tax:

(i) Cost of new debt

(ii) Cost of new preference shares

(iii) New equity share (assuming new equity from retained earnings)
(B) CALCULATE marginal cost of capital when no new shares are issued.

(C) DETERMINE the amount that can be spent for capital investment before new ordinary
shares must be sold, assuming that the retained earnings for next year’s investment is
50 percent of earnings of 2020.
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(D) COMPUTE marginal cost of capital when the fund exceeds the amount calculated in

(C), assuming new equity is issued at X 40 per share? [RTP May 21]
ANSWER:
(A) (i) Cost of new debt
11—
Ky = Py
= X16(1 - 03) =0.11667
396

(ii) Cost of new preference shares

%222
P T %185

= 0.12

(iii) Cost of new equity shares

= 0.05 + 0.10 = 0.15

Calculation of g when there is a uniform trend (on the basis of EPS)

_ EPS(2012) — EPS (2011) _ ¥2.20 — 32.00
B EPS (2011) n 32.00

= 0.10 or 10%

Calculation of D
D; = 50% of 2020 EPS = 50% of ¥ 4.72 =% 2.36

(B) Calculation of marginal cost of capital

Type of Capital Proportion Specific Cost Product
(1) (2) (3) (2) x(3)=(4)
Debentures 0.15 0.11667 0.0175
Preference Share 0.05 0.1200 0.0060
Equity Share 0.80 0.1500 0.1200
Marginal cost of capital 0.1435

(C) The company can spend the following amount without increasing marginal cost of capital and
without selling the new shares:

Retained earnings = 50% of EPS of 2020 X outstanding equity shares
= 50% of ¥ 4.72 x 10,000 shares = ¥ 23,600
The ordinary equity (Retained earnings in this case) is 80% of total capital.

So, % 23,600 = 80% of Total Capital

323,600

-~ Capital investment before issuing equity shares = =¥ 29,500
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(D) If the company spends in excess of ¥ 29,500, it will have to issue new equity shares at ¥ 40 per
share.

=~ The cost of new issue of equity shares will be:

K=t yg=223%,010=0.159
P, T4

The marginal cost of capital will be:

Type of Capital Proportion Specific Cost Product
(1) (2) (3) (2) x (3)=(4)
Debentures 0.15 0.11667 0.0175
Preference Shares 0.05 0.1200 0.0060
Equity Shares (New) 0.80 0.1590 0.1272
Marginal cost of capital 0.1507

CALCULATE the WACC by using Market value weights.

The capital structure of the company is as under:

(Rs.)
Debentures (Rs.100 per debenture) 10,00,000
Preference shares (Rs.100 per share) 10,00,000
Equity shares (Rs.10 per share) 20,00,000
40,00,000

The market prices of these securities are:

Debentures Rs. 115 per debenture
Preference shares Rs. 120 per preference share
Equity shares Rs. 265 each.

Additional information:

(1) Rs.100 per debenture redeemable at par, 10% coupon rate, 2% floatation cost, 10-year
maturity.

(2) Rs.100 per preference share redeemable at par, 5% coupon rate, 2% floatation cost
and 10-year maturity.

(3) Equity shares have a floatation cost of Rs. 1 per share.

The next year expected dividend is Rs. 5 with an annual growth of 15%. The firm has the
practice of paying all earnings in the form of dividend.

Corporate tax rate is 30%. Use YTM method to calculate cost of debentures and preference

shares. [MTP March 21 (10 Marks)]
ANSWER:
(i) Cost of Equity (K.)
= D1 tg=— =0 - +0.15 = 0.1689 or 16.89%
P, Rs. 265 — Re.
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(i) Cost of Debt (Ka)

Calculation of NPV at discount rate of 5% and 7%

Year Cash Discount Present Discount Present Value
flows factor @ 5% Value factor @ 7% (Rs.)
(Rs.)
0 112.7 1.000 (M12.7) 1.000 (112.7)
1to 10 7 7.722 54.05 7.024 49.17
10 100 0.614 61.40 0.508 50.80
NPV +2.75 12.73
Calculation of IRR
IRR = 5% + ———2> (7% - 5%) = 5% + —>(7% - 5%) = 5.36%
2.75 — (-12.73) 15.48

Cost of Debt (ky) = 5.36%
(iii) Cost of Preference shares (K;)
Calculation of NPV at discount rate of 2% and 5%

Year Cash flows Discount Present Value Discount Present Value
(Rs.) factor @ factor @ (Rs.)
2% 5%
0 117.6 1.000 (117.6) 1.000 (117.6)
1to 10 5 8.983 44.92 7.722 38.61
10 100 0.820 82.00 0.614 61.40
NPV +9.32 -17.59
Calculation of IRR
9.32 9.32
IRR = 2% + (5% - 2%) = 2% + (5% - 2%) = 3.04%
932 — (-17.59) 26.91
Cost of Preference Shares (k,) = 3.04%
Calculation of WACC using market value weights
Source of capital Market Value Weights After tax cost |WACC (Ko)
of capital
(Rs.) (a) (b) (c) = (a)x(b)
10% Debentures (Rs.115x 10,000) 11,50,000 0.021 0.0536 0.00113
5% Preference shares (Rs.120 x 10,000) 12,00,000 0.022 0.0304 0.00067
Equity shares (Rs.265 x 2,00,000) 5,30,00,000 0.957 0.1689 0.16164
5,53,50,000 1.000 0.16344

WACC (Ko) = 0.16344 or 16.344%

In March, 2021 Tiruv Ltd.'s share was sold for Rs. 219 per share. A long term earnings
growth rate of 11.25% is anticipated. Tiruv Ltd. is expected to pay dividend of Rs. 5.04 per

share.
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(i) DETERMINE the rate of return an investor can expect to earn assuming that dividends
are expected to grow along with earnings at 11.25% per year in perpetuity?

(ii) Itis expected that Tiruv Ltd. will earn about 15% on book equity and shall retain 60% of
earnings. In this case, whether, there would be any change in growth rate and cost of
equity? ANALYSE. [MTP April 21 (5 Marks)]

ANSWER:

(i) According to Dividend Discount Model approach the firm’s expected or required return on
equity is computed as follows:

Ko=pi+g

Where,

Ke = Cost of equity share capital

D1 = Expected dividend at the end of year 1
PO = Current market price of the share.

g = Expected growth rate of dividend.

Therefore, K, = 52'% + 0.1125 = 13.55%

(ii) With rate of return on retained earnings (r) of 15% and retention ratio (b) of 60%, new growth
rate will be as follows:
g = br = 0.60 x 0.15 = 0.09 or 9%

Accordingly, dividend will also get changed and to calculate this, first we shall calculate previous
retention ratio (b;) and then EPS assuming that rate of return on retained earning (r) is same.

With previous Growth Rate of 11.25% and r =15%, the retention ratio comes out to be:
0.1125 = b; x 0.15
b; = 0.75 and payout ratio = 0.25

With 0.25 payout ratio, the EPS will be as follows:

Eps = 2% _ Rs. 20.16
0.25

With new payout ratio of 40% (1 — 0.60) the new dividend will be:
D; = Rs. 20.16 x 0.40 = Rs. 8.064

Accordingly new K. will be:

Ke = 22%% | 0.09 = 12.68%
219

[*X:F Following are the information of TT Ltd.:

Particulars
Earnings per share 210
Dividend per share X6
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Expected growth rate in Dividend
Current market price per share
Tax Rate
Requirement of Additional Finance
Debt Equity Ratio (For additional Finance)
Cost of Debt

0-5,00,000

5,00,001 - 10,00,000

Above 10,00,000

6%
3120
30%

T 30 lakhs

2:1

10%
9%
8%

Assuming that there is no Reserve and Surplus available in TT Ltd.
You are required to:

(a) Find the pattern of finance for additional requirement

(b) Calculate post tax average cost of additional debt

(c) Calculate cost of equity

(d) Calculate the overall weighted average after tax cost of additional finance.

ANSWER:

(a) Pattern of raising additional finance
Equity 1/3 of % 30,00,000 = % 10,00,000
Debt 2/3 of % 30,00,000 = % 20,00,000

The capital structure after raising additional finance:

[July 21 (10 Marks)]

Particulars

)

Shareholder’s Funds

Equity Capital

Debt (Interest at 10% p.a.)
(Interest at 9% p.a.)
(Interest at 8% p.a.)

Total Funds

(20,00,000 - 10,00,000)

10,00,000
5,00,000
5,00,000
10,00,000

30,00,000

(b) Determination of post-tax average cost of additional debt
Ke=1(1-1)
Where,
| = Interest Rate
t = Corporate tax-rate

On First ¥ 5,00,000 = 10% (1 -0.3) = 7% or 0.07
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On Next X 5,00,000 = 9% (1 -0.3) = 6.3% or 0.063
On Next % 10,00,000 = 8% (1 - 0.3) = 5.6% or 0.056
Average Cost of Debt

__ (%5,00,000x0.07) +(X5,00,000x0.063) + (X10,00,000 x 0.056)
320,00,000

x 100 = 6.125%

(c) Determination of cost of equity applying Dividend growth model:

by
Where,

Ke = Cost of equity

D1 =DO0(1+g

Do = Dividend paid

g = Growth rate = 6%

PO = Current market price per share = 3120
K. = L2822894 0,06 = 2222+ 0.06 = 0.113 or 11.3%

(d)

Computation of overall weighted average after tax cost of additional finance

Particulars ) Weighted Cost of funds | Weighted Cost
(%)
Equity 10,00,000 1/3 11.3% 3.767
Debt 20,00,000 2/3 6.125% 4.083
WACC 30,00,000 7.85

(Note: In the above solution different interest rate have been considered for different
slab of Debt)

Alternative Solution

(@) Pattern of raising additional finance
1/3 of ¥ 30,00,000

2/3 of ¥ 30,00,000

=% 10,00,000
= % 20,00,000

Equity
Debt

The capital structure after raising additional finance:

Particulars R®)
Shareholders’ Funds

Equity Capital 10,00,000
Debt (Interest at 8% p.a.) 20,00,000
Total Funds 30,00,000

(b) Determination of post-tax average cost of additional debt

Kd =1(1-t)
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Where,
| = Interest Rate
t = Corporate tax-rate
K¢ =8% (1-0.3) = 5.6%

(c) Determination of cost of equity applying Dividend growth model:

Ke = o +g
Where,
Ke = Cost of equity
D1 =DO0(1+g)
DO = Dividend paid
g = Growth rate = 6%
PO = Current market price per share = ¥ 120
Then, Ke = 2262899 4 9,06 = 23 4 0,06 = 0.113 or 11.3%

(d) Computation of overall weighed average after tax cost of additional finance

Particulars ) Weights Cost of funds Weighted Cost (%)
Equity 10,00,000 1/3 11.3% 3.767
Debt 20,00,000 2/3 5.6% 3.733
WACC 30,00,000 7.50

(Note: In the above solution single interest rate have been considered for Debt)

[fX] The following is the capital structure of Sharda Ltd. as on 31.12.2020:

)
Equity shares: 2,00,000 shares (of ¥ 100 each) 2,00,00,000
9% Preference Shares (of ¥ 100 each) 60,00,000
8% Debentures 90,00,000
3,50,00,000

The market price of the company’s share is ¥ 120 and it is expected that a dividend of ¥ 12
per share would be declared for the year 2021. The dividend growth rate is 5% and the
company is in the 30% tax bracket.

(i) CALCULATE the company’s weighted average cost of capital.

(i) Further, in order to finance an expansion plan, the company intends to borrow a fund
of ¥ 2 crores bearing 12% rate of interest. In this situation, WHAT will be the company’s
revised weighted average cost of capital? This financing decision is expected to
increase dividend from % 12 to ¥ 14 per share. However, the market price of equity
share is expected to decline from % 120 to ¥ 115 per share.
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In case of both (i) and (ii) above, use market value weight while calculating weighted
average cost of capital. [MTP Oct 21 (5 Marks)]

ANSWER:

(i) Computation of the weighted average cost of capital

Source of finance Market Weight | After tax Cost| WACC (%)
Value of of capital (%)
capital (%)
(a) (b) (c) (d) = (b) x
(c)
Equity share (Working note 2,40,00,000 0.6154 15 9.231

1)
[R 120 x 2,00,000 shares]

9% Preference Share 60,00,000 0.1538 9 1.3842
8% Debentures 90,00,000 0.2308 5.60 1.2925
3,90,00,000 1.0000 11,9077

(ii) Computation of Revised Weighted Average Cost of Capital

Source of finance Market Value | Weight | After tax Cost | WACC (%)
of capital (%) of capital (%)
(a) (b) (c) (d) = (b) x
(c)
Equity shares (working note 2) 2,30,00,000 | 0.3966 17.17 6.8096
[R 115 x 2,00,000 shares]
9% Preference shares 60,00,000 0.1034 9.00 0.9306
8% Debentures 90,00,000 0.1552 5.60 0.8691
12% Loan 2,00,00,000 | 0.3448 8.40 2,8963
5,80,00,000 | 1.0000 11.5056

Working Notes:
(1) Cost of Equity Shares
K. = {Dividend Per Share (D,)/Market Price Share (Po)} + Growth Rate
= 12/120 + 0.05
= 0.15 or 15%
(2) Revised cost of equity shares (Ke)
Revised Ke = 14/115 + 0.05
= 0.1717 or 17.17%

L0 [0
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LEVERAGES

Following information has been extracted from the accounts of newly incorporated
Textyl Pvt. Ltd. for the Financial Year 2020-21:

Sales % 15,00,000
P/V ratio 70%
Operating Leverage 1.4 times
Financial Leverage 1.25 times

Using the concept of leverage, find out and verify in each case:
(i) The percentage change in taxable income if sales increase by 15%.

iil) The percentage change in EBIT if sales decrease by 10%.
(i) p g g y

(iii)) The percentage change in taxable income if EBIT increase by 15%. [RTP May 21]
ANSWER:

Workings:

1.  Contribution = Sales x P/V ratio

% 15,00,000 x 70% = % 10,50,000

Contribution

2. Operating Leverage =
P g 8 Earnings before interest and tax (EBIT)

or. 14 _ £10,50,000
EBIT
EBIT =% 7,50,000
3. Financial leverage _, 29
EBI
Or. 125 = %7,50,000
EBT
EBT = %6,00,000
4. Fixed Cost = Contribution — EBIT
=¥ 10,50,000 -% 7,50,000 = % 3,00,000
5. Interest = EBIT — EBT

=% 7,50,000 -X 6,00,000 = % 1,50,000

6. Income Statement

Particulars Amount (%)
Sales 15,00,000
Less: Variable cost (30% of ¥ 15,00,000) 4,50,000
Contribution (70% of ¥ 15,00,000) 10,50,000
Less: Fixed costs 3,00,000

g
» CA Dreamers the Avenger (© 9354719404 & www.cadreamers.com )|_ ={.



Earnings before interest and tax (EBIT) 7,50,000

Less: Interest 1,50,000
Earnings before tax (EBT) 6,00,000
C ibuti 10,50, o
(i) Combined Leverage _ Sonrleen X0 1.75 times
EBT 26,00,000
Or, Combined Leverage = Operating Leverage x Financial Leverage

=14x1.25=1.75 times

So, if sales is increased by 15% then taxable income (EBT) will be increased by 1.75 X 15%

= 26.25%

Verification
Particulars Amount (%)
New Sales after 15% increase (X 15,00,000 + 15% of % 15,00,000) 17,25,000
Less: Variable cost (30% of % 17,25,000) 5,17,500
Contribution (70% of X 17,25,000) 12,07,500
Less: Fixed costs 3,00,000
Earnings before interest and tax (EBIT) 9,07,500
Less: Interest 1,50,000
Earnings before tax after change (EBT) 7,57,500

Increase in Earnings before tax (EBT) = ¥ 7,57,500 - % 6,00,000 = ¥ 1,57,500

X1,57,500

So, percentage change in Taxable Income (EBT) = G0 000

x 100 = 26.25%, hence
verified
(ii) Degree of Operating Leverage (Given) = 1.4 times

So, if sales is decreased by 10% then EBIT will be decreased by 1.4 X 10% = 14%

Verification
Particulars Amount (%)
New Sales after 10% decrease (% 15,00,000 - 10% of ¥ 15,00,000) 13,50,000
Less: Variable cost (30% of % 13,50,000) 4,05,000
Contribution (70% of ¥ 13,50,000) 9,45,000
Less: Fixed costs 3,00,000
Earnings before interest and tax after change (EBIT) 6,45,000

Decrease in Earnings before interest and tax (EBIT) = ¥ 7,50,000 - % 6,45,000 = ¥ 1,05,000

X1,05,000

So, percentage change in EBIT = ———— x 100 = 14%, hence verified
7,50,000

(iii)) Degree of Financial Leverage (Given) = 1.25 times

Lz [0
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So, if EBIT increases by 15% then Taxable Income (EBT) will be increased by 1.25 x15% =

18.75%

Verification
Particulars Amount (%)
New EBIT after 15% increase (¥ 7,50,000 + 15% of % 7,50,000) 8,62,500
Less: Interest 1,50,000
Earnings before Tax after change (EBT) 7,12,500

Increase in Earnings before Tax = ¥ 7,12,500 - % 6,00,000 = % 1,12,500

So, percentage change in Taxable Income (EBT) =

X1,12,500

x 100 = 18.75%, hence

X6,00,000

verified

[¥3 Following information are related to four firms of the same industry:

Firm Change in Revenue Change in Operating Charge in Earnings per
Income Share
P 25% 23% 30%
Q 27% 30% 26%
R 24% 36% 20%
S 20% 30% 20%

For all the firms, FIND OUT:
(i) Degree of operating leverage, and

(ii) Degree of combined leverage.

ANSWER:

[MTP March 21]

Calculation of Degree of Operating leverage and Degree of Combined leverage

Firm Degree of Operating Leverage (DOL) Degree of Combined Leverage (DCL)
_ % change in Operating Income % change in EPS
- % change in Revenue "% change in Revenue
23% 30%
p 2 =0.92 - =1.2
25% 25%
30% 26%
=11 = 0.96
Q 27% 27%
36% 20%
R ° = 1.50 ~ = 0.83
24% 24%
30% 20%
s =150 > = 1.00
20% 20%

Following data of MT Ltd. under Situations 1, 2 and 3 and Financial Plan A and B is given:

Installed Capacity (units)

Actual Production and Sales (units)

3,600
2,400

ENg
@ www.cadreamers.com l_ ___{.

» CA Dreamers the Avenger

(© 9354719404




Selling price per unit (Rs.) 30

Variable cost per unit (Rs.) 20
Fixed Costs (Rs.): Situation 13,000
Situation 26,000
Situation 39,000
Capital Structure:
Particulars Financial Plan
A B
Equity Rs. 15,000 Rs. 22,500
Debt Rs. 15,000 Rs. 7,500
Cost of Debt 12% 12%

Required:
(i) CALCULATE the operating leverage and financial leverage.

(ii) FIND out the combinations of operating and financial leverage which give the highest

value and the least value. [MTP April 21 (10 Marks)]
ANSWER:
(i) Operating Leverage
Situation 1 Situation 2 Situation 3
(Rs.) (Rs.) (Rs.)
Sales (S)
2,400 units @ Rs. 30 per unit 72,000 72,000 72,000
Less: Variable Cost (VC) @ Rs. 20 per unit 48,000 48,000 48,000
Contribution (C) 24,000 24,000 24,000
Less: Fixed Cost (FC) 3,000 6,000 9,000
EBIT 21,000 18,000 15,000
Operating Leverage = _Cc Rs. 24,000 Rs. 24,000 Rs. 24,000
EBIT Rs. 21,000 Rs. 18,000 Rs. 15,000
=1.14 =1.33 = 1.60

Financial Leverage

Financial Plan
A (Rs.) B (Rs.)
Situation 1
EBIT 21,000 21,000
Less: Interest on debt 1,800 900
(Rs. 15,000 x 12%);(Rs. 7,500 x 12%)
EBT 19,200 20,100

14
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. ) _ EBIT Rs. 21,000 Rs. 21,000 _
Financial Leverage = EBT RETT 1.09 e 2000 1.04
Situation 2
EBIT 18,000 18,000
Less: Interest on debt 1,800 900
EBT 16,200 17,100

. i __ EBIT Rs. 18,000 Rs. 18,000
Financial Leverage = EBT e 16,200 1.1 RN 1.05
Situation 3
EBIT 15,000 15,000
Less: Interest on debt 1,800 900
EBT 13,200 14,100

. i _ EBIT Rs. 15,000 Rs. 15,000
Financial Leverage = EBT R 1.14 R 1.06

(ii) Combined Leverages
CL=OLxFL
Financial Plan
A (Rs.) B (Rs.)

(a) Situation 1

1.14 x 1.09 = 1.24

1.14 x 1.04 = 1.19

(b)  Situation 2

1.33 x 1.11 = 1.48

1.33 x 1.05 = 1.40

(¢ Situation 3

1.60 x 1.14 = 1.82

1.60 x 1.06 = 1.70

The above calculations suggest that the highest value is in Situation 3 financed by Financial Plan

A and the lowest value is in the Situation 1 financed by Financial Plan B.

A company had the following balance sheet as on 31° March, 2021:

Liabilities ZinCrores Assets ZinCrores
Equity Share Capital (75 Ilakhs 7.50 Building 12.50
Shares of ¥ 10 each)
Reserves and Surplus 1.50 Machinery 6.25
15% Debentures 15.00 Current Assets
Current Liabilities 6.00 Stock 3.00
Debtors 3.25
Bank Balance 5.00
30.00 30.00

The additional information given is under:

ENg
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Fixed cost per annum (excluding interest) ¥ 6 crores

Variable operating cost ratio 60%
Total assets turnover ratio 2.5
Income-tax rate 40%

Calculate the following and comment:
(i) Earnings per share
(ii) Operating Leverage

(iii) Financial Leverage

(iv) Combined Leverage [July 21 (10 Marks)]
ANSWER:

Total Assets = ¥ 30 crores

Total Assets Turnover Ratio =2.5

Hence, Total Sales = 30x 2.5 =% 75 crores

Computation of Profit after Tax (PAT)

Particulars (X in crores)
Sales 75.00
Less: Variable Operating Cost @ 60% 45.00
Contribution 30.00
Less: Fixed Cost (Other than Interest) 6.00
EBIT/ PBIT 24.00
Less: Interest on Debentures (15% x 15) 2.25
EBT/ PBT 21.75
Less: Tax @ 40% 8.70
EAT/ PAT 13.05

(i) Earnings per Share

PAT _13.05
Number of Equity Shares ~ 075

EPS = =% 17.40

It indicates the amount the company earns per share. Investors use this as a guide while valuing
the share and making investment decisions. It is also an indicator used in comparing firms within
an industry or industry segment.

(ii) Operating Leverage

Contribution 30
—==—=1.25

Operating Leverage = BT 2

It indicates the choice of technology and fixed cost in cost structure. It is level specific. When firm
operates beyond operating break-even level, then operating leverage is low. It indicates
sensitivity of earnings before interest and tax (EBIT) to change in sales at a particular level.
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(iii) Financial Leverage

EBIT

Financial Leverage = — = 2% = 1.103
PBT  21.75

The financial leverage is very comfortable since the debt service obligation is small vis-a-vis EBIT.

(iv) Combined Leverage

Contribution 30
= = 1.379
PBT 21.75

Combined Leverage =

Or,
= Operating Leverage x Financial Leverage
= 1.25x 1.103 = 1.379

The combined leverage studies the choice of fixed cost in cost structure and choice of debt in
capital structure. It studies how sensitive the change in EPS is vis-a-vis change in sales. The
leverages operating, financial and combined are used as measurement of risk.

¥R The following details of PQR Limited for the year ended 31°* March, 2021 are given
below:

Operating leverage 1.4
Combined leverage 2.8

Fixed Cost (Excluding interest) % 2.10 lakhs
Sales %40.00 lakhs
10% Debentures of ¥ 100 each % 25.00 lakhs
Equity Share Capital of ¥ 10 each %20.00 lakhs
Income tax rate 30 per cent

REQUIRED:

(i) Calculate Financial leverage
(i) Calculate P/V ratio and Earning per Share (EPS)

(iii) If the company belongs to an industry, whose assets turnover is 1.6, does it have a
high or low assets turnover?

(iv) Atwhat level of sales, the Earning before Tax (EBT) of the company will be equal to
zero?

In the question, assume that 10% Debentures and Share Capital consists of total liabilities.
[MTP Oct 21 (8 Marks)]

ANSWER:
(i) Financial leverage
Combined Leverage = Operating Leverage x Financial Leverage
So, financial leverage = Combined Leverage/ Operating Leverage

=2.8/14=2
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(i) P/V Ratio and EPS

Contribution

erating Leverage =
Op g g Contribution — Fixed Cost

Contribution
Contribution — 2,10,000

1.4 Contribution — 2.94,000 = Contribution
0.4 Contribution = 2,94,000
Contribution = 7,35,000

1.4 =

Now, P/V Ratio = Seniiution , qaq = 235000, 100 = 18.375%
Sales 40,00,000
EPS = Profit after-tax (PAT)
No. of equity shares
Earning before tax (EBT) = Contribution — Fixed Cost — Interest
= 7,35,000 - 2,10,000 - 2,50,000
= 2,75,000
Profit after tax = EBT — Tax @ 30%
= 2,75,000 - 82,500
= 1,92,500
EPS = 1225%  ~ 0.9625
2,00,000

(iii) Assets turnover

Total Assets = Equity Shares Capital + Debentures = X 20 lakhs + X 25 lakhs = X 45 lakhs

Sales __ 40,00,000
Total Assets 45,00,000

0.89

Asset Turnover =

0.89 < 1.6, mans lower than industry turnover.

(iv) EBT zero means 100% reduction in EBT. Since combined leverage is 2.8, sales have to be dropped
by 100/2.8 = 35.71%. Hence new sales will be

40,00,000 x (100% - 35.71%) = 25,71,600

m The Capital structure of PS Ltd. for the year ended 31% March, 2021 consisted as
follows:

Particulars Amounting
Equity shares capital (face value X 10 each) 10,000
10% debentures (X 100 each) 1,00,000

During the year 2020-21, sales decreased to 10,000 units as compared to 12,000 units in the
previous year. However, the selling price stood at ¥ 12 per unit and variable cost at % 8 per
unit for both the years. The fixed expenses were at ¥ 20,000 p.a. and the income tax rate is
30%.

You are required to CALCULATE the following:
(i) The degree of financial leverage at 12,000 units and 10,000 units.
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(i) The degree of operating leverage at 12,000 units and 10,000 units.

(iii) The percentage change in EPS due to change in units sold. [MTP Nov 21 (5 Marks)]
ANSWER:
Sales in units 12,000 10,000
) )
Sales value 1,44,000 1,20,000
Variable Cost (96,000) (80,000)
Contribution 48,000 40,000
Fixed expenses (20,000) (20,000)
EBIT 28,000 20,000
Debenture Interest (10,000) (10,000)
EBT 18,000 10,000
Tax @ 30% (5,400) (3,000)
Profit after tax (PAT) 12,600 7,000
EBIT 3 g
(i) Financial Leverage = —— _ S 1.56 . SABR
EBT 318,000 210,000
. ) __ Contribution _%48,000 _ 40,000
(ii) Operating leverage = BT = 1.71 =
(iii)  Earnings per share (EPS) _ 212600 _ 5456 _ 27000 5o
31,000 31,000
Decease in EPS =126-37=%5.6
0/0 decrease in EPS — %66 X -loo — 44.440/0

The following particulars relating to Navya Ltd. for the year ended 31°* March 2021 is
given:

Output 1,00,000 units at normal capacity
Selling price per unit 340
Variable cost per unit 320
Fixed cost 210,00,000

The capital structure of the company as on 31° March, 2021 is as follows:

Particulars Amount (%)
Equity share capital (1,00,000 shares of ¥ 10 each) 10,00,000
Reserves and surplus 5,00,000

7% debentures 10,00,000
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Current liabilities 5,00,000
Total 30,00,000

Navya Ltd. has decided to undertake and expansion project to use the market potential, that
will involve % 10 lakhs. The company expects and increase in output by 50%. Fixed cost will
be increased by % 5,00,000 and variable cost per unit will be decreased by 10%. The
additional output can be sold at the existing selling price without any adverse impact on the
market.

The following alternative schemes for financing the proposed expansion programme are
planned:

(i) Entirely by equity shares of ¥ 10 each at par.

(i) T 5 lakh by issue of equity shares of ¥ 10 each and the balance by issue of 6%
debentures of 2 100 each at par.

(iii)) Entirely by 6% debentures of ¥ 100 each at par.

FIND out which of the above-mentioned alternatives would you recommend for Navya Ltd.
with reference to the risk and return involved, assuming a corporate tax of 40%.

[RTP Nov 21]
ANSWER:
Statement showing Profitability of Alternative schemes for Financing
(X in’00,000)
Particulars Existing Alternative Schemes
(i) (ii) (iii)
Equity Share capital (existing) 10 10 10 10
New issues - 10 5 -
10 20 15 10
7% debentures 10 10 10 10
6% debentures - - 5 10
20 30 30 30
Debentures interest (7%) 0.7 0.7 0.7 0.7
Debenture interest (6%) - - 0.3 0.6
0.7 0.7 1.0 1.3
Output (units in lakh) 1 1.5 1.5 1.5
Contribution per. unit (%) (Selling price - 20 22 22 22
Variable Cost)
Contribution (X lakh) 20 33 33 33

» CA Dreamers the Avenger (© 9354719404 & www.cadreamers.com ’m__{.



Less: Fixed cost 10 15 15 15
EBIT 10 18 18 18
Less: Interest (as calculated above) 0.7 0.7 1.0 1.3
EBT 9.3 17.3 17 16.7
Less: Tax (40%) 3.72 6.92 6.8 6.68
EAT 5.58 10.38 10.20 10.02
Operating Leverage (Contribution /EBIT) 2.00 1.83 1.83 1.83
Financial Leverage (EBIT/EBT) 1.08 1.04 1.06 1.08
Combined Leverage (Contribution/EBT) 2.15 1.91 1.94 1.98
EPS (EAT/No. of shares) (%) 5.58 5.19 6.80 10.02
Risk - Lowest L;)F\:\;:)rnt?:)n Highest
Return - Lowest L(());:;rntr(\:)n Highest

From the above figures, we can see that the Operating Leverage is same in all alternatives though
Financial Leverage differs. Alternative (iii) uses the maximum amount of debt and result into the
highest degree of financial leverage, followed by alternative (ii). Accordingly, risk of the company will
be maximum in these options. Corresponding to this scheme, however, maximum EPS (i.e. ¥ 10.02
per share) will be also in option (iii).

So, if Navya Ltd. is ready to take a high degree of risk, then alternative (iii) is strongly recommended.
In case of opting for less risk, alternative (ii) is the next best option with a reduced EPS of % 6.80 per
share. In case of alternative (i), EPS is even lower than the existing option, hence not recommended.

[eX:} Information of A Ltd. is given below:

e Earnings after tax : 5% on sales

¢ Income tax rate : 50%

e Degree of Operating Leverage : 4 times

e 10% Debenture in capital structure : % 3 lakhs

e Variable costs : T 6 lakhs

Required :

(i) From the given data complete following statement:
Sales XXXX
Less: Variable costs % 6,00,000
Contribution XXXX
Less: Fixed costs XXXX
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EBIT XXXX
Less: Interest expenses XXXX
EBT XXXX
Less: Income tax XXXX
EAT XXXX

(ii) Calculate Financial Leverage and Combined Leverage.

(iii) Calculate the percentage change in earning per share, if sale increased by 5%.
[Dec 21 (10 Marks)]

ANSWER:
(i) Working Notes
Earning after tax (EAT) is 5% of sales
Income tax is 50%
So, EBT is 10% of Sales
Since Interest Expenses is ¥ 30,000
EBIT = 10% of Sales + 30,000  ..eoiriiiiiiiiieieeeeeeeeeens (Equation i)

Now Degree of operating leverage = 4

S Contribution
’ EBIT

Or, Contribution = 4 EBIT
Or, Sales — Variable Cost = 4 EBIT
Or, Sales - ¥ 6,00,000 = 4 EBIT  eooriiiiiiiii e, (Equation ii)

=4

Replacing the value of EBIT of equation (i) in Equation (ii)
We get, Sales — ¥ 6,00,000 = 4 (10% of Sales + % 30,000)
Or, Sales — X 6,00,000 = 40% of Sales + % 1,20,000

Or, 60% of Sales = X 7,20,000

X7,20,000
60%

So, Sales = =312,00,000

Contribution = Sales — Variable Cost = ¥ 12,00,000 - % 6,00,000 = X 6,00,000

%6,00,000
EBIT =

=¥ 1,50,000

Fixed Cost = Contribution — EBIT = % 6,00,000 - % 1,50,000 = X 4,50,000
EBT = EBIT — Interest = % 1,50,000 - % 30,000 = % 1,20,000

EAT = 50% of ¥ 1,20,000 = X 60,000

Income Statement

Particulars )

Sales 12,00,000
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Less: Variable cost 6,00,000
Contribution 6,00,000
Less: Fixed cost 4,50,000
EBIT 1,50,000
Less: Interest 30,000
EBT 1,20,000
Less: Tax (50%) 60,000
EAT 60,000

EBIT _ 1,50,000
EBT 1,20,000

(ii) Financial Leverage = =1.25 times

Combined Leverage = Operating Leverage x Financial Leverage
=4 x1.25 = 5times
Or,

Contribution . EBIT
EBIT EBT

Combined Leverage =

Contribution _ %6,00,000

= = 5 times
EBT X1,20,000

Combined Leverage =

(iii) Percentage Change in Earnings per share

% Change in EPS 5 = % Change in EPS
% change in Sales 5%

~ % Change in EPS = 25%

Combined Leverage =

Hence, if sales increased by 5%, EPS will be increased by 25%.
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CAPITAL STRUCTURE

In respect of two companies having same business risk, following information is given:
Capital employed =% 4,00,000; EBIT = 60,000; Ke =12%

Sources Levered Company (%) Unlevered Company (%)
Debt (@ 10%) 1,50,000 Nil
Equity 1,50,000 3,00,000

Investor is holding 20% shares in levered company. Calculate increase in annual earnings
of investor if he switches his holding from Levered to Unlevered Company.

[MTP Oct 21 (5 Marks)]

ANSWER:
1. Valuation of firms
Particulars Levered Firm () Unlevered Firm (%)
EBIT 60,000 60,000
Less: Interest (1,50,000 x 10%) 15,000 Nil
Earnings available to Equity Shareholder/K. 45,000 60,000
12% 12%
Value of Equity 3,75,000 5,00,000
Debt 1,50,000 Nil
Value of Firm 5,25,000 5,00,000

Value of Levered company is more than that of unlevered company. Therefore, investor will sell
his shares in levered company and buy shares in unlevered company. To maintain the level of
risk he will borrow proportionate amount and invest that amount also in shares of unlevered
company.

2. Investment & Borrowings

Sell shares in Levered company (3,75,000 x 20%) 75,000
Borrow money (1,50,000 x 20%) 30,000
Buy shares in Unlevered company 1,05,000

3. Change in Return

Income from shares in Unlevered company

(1,05,000 x 12%) 12,600
Less: interest on loan (30,000 x 10%) 3,000
Net Income from unlevered firm 9,600
Income from Levered firm (75000 x 12%) 9,000
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Incremental Income due to arbitrage 600

[f¥3 M Ltd. belongs to a risk class for which the capitalization rate is 12%. It has 40,000
outstanding shares and the current market price is % 200. It expects a net profit of ¥ 5,00,000
for the year and the Board is considering dividend of % 10 per share.

M Ltd. requires to raise ¥ 10,00,000 for an approved investment expenditure. ILLUSTRATE,
how the MM approach affects the value of M Ltd. if dividends are paid or not paid.

[MTP Oct 21 (5 Marks)]

ANSWER:

Given,
Cost of Equity (Ke) 12%
Number of shares in the beginning (n) | 40,000
Current Market Price (P,) g 200
Net Profit (E) ¥ 5,00,000
Expected Dividend (D;) % 10 per share
Investment (1) % 10,00,000

Situation 1 - When dividends are paid

. P1+ D1
(l) PO = 1+ Ke
P1+ 10
200 =
1+ 0.12

P, +10 = 200 x 1.12
P, =224-10 = 214
(ii) Calculation of funds required

= Total Investment — (Net profit —
Dividend)

= 10,00,000 - (5,00,000 - 4,00,000)
= 9,00,000
(iii) Calculation of shares required to be issued

for balance fund

Funds Required

No. of shares = —
Price at end (P1)

_9,00,000
214

An = 4205.61

(iv) Calculation of value of firm

(n+ JP1-1+ E
\/f n
1+ Ke

9,00,000
214

3 (40,000 +

) 214 —10,00,000 + 5,00,000

1+ 0.12

Situation 2 - When dividends are not paid

. _ P14+ D1
(i) PO= 1+ Ke
P1+0
200 = 1+ 0.12

P,+0=200x1.12
P, =224-0 = 224
(ii) Calculation of funds required

= Total Investment — (Net profit —
Dividend)

= 10,00,000 - (5,00,000 - 0)

= 5,00,000
(ili) No. of shares required to be issued for
balance fund

Funds Required

No. of shares = —
Price at end (P1)

_5,00,000
224

(iv) Calculation of value of firm

Vs

An = 2232.14

_(+ pP1-I+E
1+ Ke

5,00,000
224

(40,000 + ) 224 —10,00,000 + 5,00,000

1+ 0.12
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__94,60,000 —5,00,000
1.12

= 80,00,000

__94,60,000 + 5,00,000
1.12

80,00,000

Sophisticated Limited is considering three financing plans. The key information is as
follows:

(a)
(b)

(c)

(d)
(e)

()

Total investment amount to be raised % 4,00,000

Plans of Financing Proportion:

Plans Equity Debt Preference Shares
A 100% - -
B 50% 50% -
C 50% - 50%
Cost of debt 10%
Cost of preference shares 10%
Tax rate 30%

Equity shares of the face value of ¥ 10 each will be issued at a premium of X 10 per

share.

Expected EBIT is ¥ 10,00,000.

You are required to DETERMINE for each plan: -

()
(i)
(iii)

Earnings per share (EPS)

The financial break-even point.

Indicate if any of the plans dominate and compute the EBIT range among the plans for

indifference.

ANSWER:

(i)

Computation of Earnings per share (EPS)

[MTP Oct 21 (10 Marks)]

Plans A B C
Earnings before interest and 10,00,000 10,00,000 10,00,000
tax (EBIT)
Less: Interest charges (20,000)

(10% x % 2 lakhs)
Earnings before tax (EBT) 10,00,000 9,80,000 10,00,000
Less: Tax (@ 30%) (3,00,000) (2,94,000) (3,00,000)
Earnings after tax (EAT) 7,00,000 6,86,000 7,00,000
Less: Preference Dividend (20,000)
(10% x X 2 lakh)
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Earnings available for Equity 7,00,000 6,86,000 6,80,000
shareholders (A)
No. of Equity shares (B) 20,000 10,000 10,000

(X 4 lakh ~3%20) | (R 2lakh +3%20) | (R 2 lakh + %20)
EPS X [(A) = (B)] 35 68.6 68

(i) Calculation of Financial Break-even point

Financial break-even point is the earnings which are equal to the fixed finance charges and
preference dividend.

Plan A: Under this, plan there is no interest or preference dividend payment. Hence, the
Financial Break-even point will be zero.

Plan B: Under this plan, there is an interest payment of ¥ 20,000 and no preference dividend.
Hence, the Financial Break-even point will be ¥ 20,000 (Interest charges).

Plant C: Under this plan, there is no interest payment but an after tax preference dividend of %
20,000 is paid. Hence, the Financial Break-even point will be before tax earnings of ¥ 28,571
(i.e. ¥ 20,000 =+ 0.7)

(iii) Computation of indifference point between the plans.

The indifference between two alternative methods of financing is calculated by applying the
following formula.

(EBIT- 1)1 - T) _ (EBIT- L)1 - T)

E, E,
Where,

EBIT = Earnings before interest and tax.

l; = Fixed charges (interest or pref. dividend) under Alternative 1
I, = Fixed charges (interest or pref. dividend) under Alternative 2
T = Tax rate

E1 = No. of equity shares in Alternative 1

E2 = No. of equity shares in Alternative 2

Now, we can calculate indifference point between different plans of financing.

(a) Indifference point where EBIT of Plan A and Plan B is equal.

(EBIT - 0)(1 - 0.3) _ (EBIT — 20,000)(1 — 0.3)

20000 10,000
0.7 EBIT (10,000) = (0.7 EBIT - 14,000) (20,000)
7,000 EBIT = 14,000 EBIT — 28 crores
EBIT = 40,000

(b) Indifference point where EBIT of Plan A and Plan C is equal

(EBIT - 0)(1 — 0.3) _ (EBIT — 0)(1 — 0.3) — 20,000
20000 10,000

0.7 EBIT (10,000) = (0.7 EBIT — 20,000) (20,000)
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7,000 EBIT = 14,000 EBIT — 40 crores

EBIT = 57,142.86
(c) Indifference point where EBIT of Plan A and Plan C is equal.
(EBIT - 20,000)(1 — 0.3) — (EBIT — 0)(1 — 0.3) — 20,000
10000 10,000
(0.7 EBIT — 14,000) (10,000) = (0.7 EBIT — 20,000) (10,000)
7,000 EBIT - 14 crore = 7,000 EBIT - 20 crore

There is no indifference point between the financial plans B and C.

ABC Limited is setting up a project with a capital outlay of ¥ 90,00,000. It has two
alternatives in financing the project cost.

Alternative-l: 100% equity finance by issuing equity shares of ¥ 10 each
Alternative-Il: Debt-equity ratio 2:1 (issuing equity shares of ¥ 10 each)

The rate of interest payable on the debts is 18% p.a. The corporate tax rate is 30%.
CALCULATE the indifference point between the two alternative methods of financing.

[MTP Nov 21 (5 Marks)]

ANSWER:
Calculation of Indifference point between the two alternatives of financing.

Alternative-l By issue of 9,00,000 equity shares of ¥ 10 each amounting to ¥ 90 lakhs. No financial
charges are involved.

Alternative-Il By raising the funds in the following way:
Dabt = % 60 lakhs
Equity = R 30 lakhs (3,00,000 equity shares of X 10 each)

Interest payable on debt = 60,00,000 x — =  19,80,000

The difference point between the two alternatives is calculated by:

(EBIT-1;,)(1-T) _ (EBIT-1,)(1-T)

Eq E;
(EBIT — 0) (1 — 0.30) _ (EBIT — 10,80,000) (1 — 0.30)
9,00,000 B 3,00,000
(EBIT) (0.70) __ (EBIT — 10,80,000) ( 0.70)
9,00,000 3,00,000
EBIT (0.70) __ 0.70 (EBIT — 10,80,000)
3 1

EBIT = 3EBIT - 32,40,000
-2 EBIT = - 32,40,000

32,40,000
EBIT = ——

EBIT = % 16,20,000
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Therefore, at EBIT of % 16,20,000, earnings per share for the two alternatives is equal.

[*¥} Blue Ltd., an all equity financed company is considering the repurchase of Z 275 lakhs
equity shares and to replace it with 15% debentures of the same amount. Current market
value of the company is ¥ 1,750 lakhs with its cost of capital of 20%. The company’s Earnings
before Interest and Taxes (EBIT) are expected to remain constant in future years. The
company also has a policy of distributing its entire earnings as dividend.

Assuming the corporate tax rate as 30%, you are required to calculate the impact on the
following on account of the change in the capital structure as per Modigliani and Miller (MM)
Approach:

(i) Market value of the company

(ii) Overall Cost of capital

iii) Cost of equit RTP Nov 21
(iii) quity [RTP Nov 21]
ANSWER:
Workings:

Net income (NI)for equtiy holders

Market Value of Equity =

Ke
_ Netincome (NI) for equity holders
% 1,750 lakhs = 520
Net Income to equity holders /EAT = ¥ 350 lakhs
Therefore, EBIT = ——_ = 1350180 _ 7 500 lakhs
1-1 (1- 0.3)
Income Statement
All Equity Equity & Debt
(X in lakhs) (X in lakhs)
EBIT (as calculated above) 500 500
Interest on X 275 lakhs @ 15% - 41.25
EBT - 458.75
Tax @ 30% 500 137.63
Income available to equity holders 150 321.12
350
(i) Market value of the company
Market value of levered firm = Value of unlevered firm + Tax Advantage

= ¥ 1,750 lakhs + (% 275 lakhs x 0.3)
= ¥ 1,832.5 lakhs
Change in market value of the company = X 1,832.5 lakhs - % 1,750 lakhs
= ¥ 82.50 lakhs
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The impact is that the market value of the company has increased by ¥ 82.50 lakhs due to
replacement of equity with debt.

(ii) Overall Cost of Capital
Market Value of Equity = Market value of levered firm - Equity repurchased
= ¥ 1,832.50 lakhs — ¥ 275 lakhs = ¥ 1,557.50 lakhs

Cost of Equity (K.) = (Net Income to equity holders / Market value of equity) x 100
= (X 321.12 lakhs / ¥ 1,557.50 lakhs) x 100 = 20.62%

Cost of debt (Ky) =1(1-t) =15(1-0.3) = 10.50%

Components | Amount (R in Cost of Capital % Weight WACC (Ko) %
lakhs)
Equity 1,557.50 20.62 0.85 17.53
Debt 275.00 10.50 0.15 1.58
1,832.50 1 19.11

The impact is that the Overall Cost of Capital or K, has fallen by 0.89% (20% - 19.11%) due to
the benefit of tax relief on debt interest payment.

(iii) Cost of Equity

The impact is that cost of equity has risen by 0.62% (20.62% - 10%) due to the presence of
financial risk i.e. introduction of debt in capital structure.

Note: Cost of Capital and Cost of equity can also be calculated with the help of following formulas,
though there will be no change in the final answers.

Cost of Capital (K,) = K, [1 = (t x L)]
Where,
Ke, = Cost of equity in an unlevered company

t = Tax rate

_ Debt
(Debt + Equity)

X 275 lakhs

S0, Ko =020 [1 — (0.3x e

)] = 0.191 or 19.10% (approx.)

Debt (1 — t)
Equity

Cost of Equity (Ke) = Keu + (K., - Ky)
Where,

Kew = Cost of equity in an unlevered company
K4 = Cost of debt

t = Tax rate

X275 lakhs (1 — 0.3)
X1,557.5 lakhs

So. K. = 0.20 + ((0.20 ~0.15)x ) = 0.2062 or 20.62%
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m Earnings before interest and tax of a company are ¥ 4,50,000. Currently the company
has 80,000 Equity shares of ¥ 10 each, retained earnings of ¥ 12,00,000. It pays annual
interest of ¥ 1,02,000 on 12% Debentures. The company proposes to take up an expansion
scheme for which it needs additional funds of % 6,00,000. It is anticipated that after
expansion, the company will be able to achieve the same return on investment as at present.
It can raise fund either through debts at rate of 12% p.a. or by issuing Equity shares at par.
Tax rate is 40%.

Required:

Compute the earnings per share if:

(i) The additional funds were raised through debts.

(ii) The additional funds were raised by issue of Equity shares.

Advise whether the company should go for expansion plan and which source of finance
should be preferred. [Dec 21 (10 Marks)]

ANSWER:
Working Notes:

(1) Capital employed before expansion plan:

)
Equity shares (X 10 x 80,000 shares) 8,00,000
Debentures {(X 1,20,000 /12) x 100} 10,00,000
Retained earnings 12,00,000
Total capital employed 30,00,000

(2) Earnings before interest and tax (EBIT) = 4,50,00
(3) Return on Capital Employed (ROCE):

ROCE=—2BT 100 = 3450000

, x 100 = 15%
Capital employed X30,00,000

(4) Earnings before interest and tax (EBIT) after expansion scheme:

After expansion, capital employed = ¥ 30,00,000 + % 6,00,000 = % 36,00,000
Desired EBIT = 15% x ¥ 36,00,000 = % 5,40,000
(i) & (i) Computation of Earnings Per Share (EPS) under the following options:
Present Expansion scheme Additional
funds raised as
Debt (i) Equity (ii)
() ®) ®)
Earnings before Interest and 4,50,000 5,40,000 5,40,000
Tax (EBIT)
Less: Interest — Old Debt 1,20,000 1,20,000 1,20,000
- New Debt - 72,000 --
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(X 6,00,000 x 12%)
Earnings before Tax (EBT) 3,30,000 3,48,000 4,20,000
Less: Tax (40% of EBT) 1,32,000 1,39,200 1,68,000
PAT/EAT 1,98,000 2,08,800 2,562,000
No. of shares outstanding 80,000 80,000 1,40,000
Earnings per Share (EPS) 2.475 2.610 1.800
o) G G5

Advise to the Company: When the expansion scheme is financed by additional debt, the EPS is
higher. Hence, the company should finance the expansion scheme by raising debt.

The following data relates to two companies belonging to the same risk class:

Particulars Bee Ltd. Cee Ltd.
12% Debt % 27,00,000 -
Equity Capitalization Rate -- 18
Expected Net Operating Income g 9,00,000 9,00,000

You are required to:

(a) DETERMINE the total market value, Equity capitalization rate and weighted average
cost of capital for each company assuming no taxes as per M.M. Approach.

(b) DETERMINE the total market value, Equity capitalization rate and weighted average
cost of capital for each company assuming 40% taxes as per M.M. Approach.

[RTP May 22]
ANSWER:
(a) Assuming no tax as per MM Approach.
Calculation of Value of Firms ‘Bee Ltd.’ and ‘Cee Ltd’ according to MM Hypothesis
Market Value of ‘Cee Ltd’ [Unlevered(u)]
Total Value of Unlevered Firm (V,) = [NOIl/k.] = 9,00,000/0.18 = % 50,00,000
K. of Unlevered Firm (given) = 0.18
Ko of Unlevered Firm (Same as above = k. as there is no debt) = 0.18
Market Value of ‘Bee Ltd’ [Levered Firm (l)]
Total Value of Levered Firm (V) =V, + (Debtx Nil)
= ¥ 50,00,000 + (27,00,000 x nil)
= ¥ 50,00,000

Computation of Equity Capitalization Rate and
Weighted Average Cost of Capital (WACC)

Particulars Bee Ltd.
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Net Operating Income (NOI) 9,00,000
Less: Interest on Debt (I) 3,24,000
Earnings of Equity Shareholders (NI) 5,76,000
Overall Capitalization Rate (ko) 0.18
Total Value of Firm (V = NOI/K,) 50,00,000
Less: Market Value of Debt 27,00,000
Market value of Equity (S) 23,00,000
Equity Capitalization Rate [k. = NI/S] 0.2504
Weighted Average Cost of Capital (Ko)* 0.18

Ko = (ke X $/V) + (K4 x D/V)

*Computation of WACC Bee Ltd.

Component of Capital Amount Weight Cost of Capital WACC
Equity 23,00,000 0.46 0.2504 0.1152
Debt 27,00,000 0.54 0.12* 0.0648
Total 50,00,000 0.18

*Kq = 12% (since there is no tax)
WACC = 18%
(b) Assuming 40% taxes as per MM Approach

Calculation of Value of Firms ‘Bee Ltd.’ and ‘Cee Ltd’ according to MM Hypothesis

Market Value of ‘Cee Ltd’ [Unlevered (u)]

Total Value of unlevered Firm (Vu) = [NOI (1 - t)/ke] = 9,00,000 (1-0.40)]/0.18
= % 30,00,000

K. of unlevered Firm (given) = 0.18

K, of unlevered Firm (Same as above = ke as there is no debt) = 0.18

Market Value of ‘Bee Ltd’ [Levered Firm (l)]

Total Value of Levered Firm (V) = Vu + (Debtx Tax)
= ¥ 30,00,000 + (27,00,000 x 0.4)
= % 40,80,000

Computation of Weighted Average Cost of Capital (WACC) of ‘Cee Ltd.’

= 18% (i.e. K. = K,)

Computation of Equity Capitalization Rate and
Weighted Average Cost of Capital (WACC) of Bee Ltd.

Particulars Bee Ltd.
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Net Operating Income (NOI) 9,00,000
Less: Interest on Debt (I) 3,24,000
Earnings Before Tax (EBT) 5,76,000
Less: Tax @ 40% 2,30,400
Earnings for equity shareholders (NI) 3,45,600
Total Value of Firm (V) as calculated above 48,80,000
Less: Market Value of Debt 27,00,000
Market Value of Equity () 13,80,000
Equity Capitalization Rate [k. = NI/S] 0.2504
Weighted Average Cost of Capital (ko)* 13.23
Ko = (ke X $/V) + (k4 x D/V)
*Computation of WACC Bee Ltd.

Component of Capital Amount Weight Cost of Capital WACC
Equity 13,80,000 0.338 0.2504 0.0846
Debt 27,00,000 0.662 0.072* 0.0477
Total 40,80,000 0.1323

WACC = 13.23%

*Ky= 12% (1- 0.4) = 12% X 0.6 = 7.2%

m The following are the costs and values for the firms A and B according to the traditional

approach.

Firm A FirmB
Total value of firm, V (in %) 50,000 60,000
Market value at debt, D (in %) 0 30,000
Market value of equity, E (in %) 50,000 30,000
Expected net operating income (in %) 5,000 5,000
Cost of debt (in %) 0 1,800
Net Income (in %) 5,000 3,200
Cost of equity, Ke = NI/V 10.00% 10.70%

ANSWER:

(i)

(ii) Compute Value of Equity and Cost of Equity for both the firms.

(i) Compute the Equilibrium value for Firm A and B in accordance with the M-M approach.
Assume that (a) taxes do not exist and (b) the equilibrium value of Ke is 9.09%.

[Nov 2022 (4 Marks)]

Computation of Equilibrium value of Firms A & B under MM Approach:
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As per MM approach KO is equal to K,
2 Ko =Ke (1-1) =9.09 (1-0) =9.09

Particulars A B

EBIT (NOI) %) 5000 5000

Ko () 9.09 9.09

Equilibrium value (X) (NOI/Ko) x 100 55005.5 55005.5
222x100 222100

(ii) Computation of value of equity and cost of equity of Firms A & B

Particulars A B
Equilibrium value (%) 55,005.5 55,005.5
Less: Value of Debt -- 30,000
Value of Equity 55,005.5 25,005.5
Cost of Equity of Firm A (unlevered) = 9.09
Cost of Debt of Firm B (K,) (levered) = (1800/30000) x 100 = 6%
Cost of Equity of Firm B (Levered) = Ko + (Ko - Ky) x (Debt / Equity)

= 9.09 + (9.09 - 6) x (30000/25005.5)
=9.09+3.09 x 1.2 = 9.09 + 3.71 = 12.80%
(OR)

NI

— ) x 1
Value oquuity) x 100

Cost of Equity of Firm B (Levered) = (

= ( 3200 ) x 100 = 12.8%

25005.5
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DIVIDEND DECISION

The following figures are extracted from the annual report of RJ Ltd.:

Net Profit ¥ 50 Lakhs
Outstanding 13% preference shares 200 Lakhs
No. of Equity Shares 6 Lakhs
Return on Investment 25%
Cost of Capital (Ke) 15%
You are required to compute the approximate dividend pay-out ratio by keeping the share
price at % 40 by using Walter's Model. [Nov 2020 (5 Marks)]
ANSWER:
Particulars Zin lakhs
Net Profit 50
Less: Preference dividend (X 200,00,000 x 13%) 26
Earning for equity shareholders 24
Therefore, earning per share = ¥ 24 lakh /6 lakh shares = ¥ 4

Let, the dividend per shares be D to get share price of ¥ 40

r
D+ (E— D)

p =
Ke
40 - D+322(X4— D)
0.15
6 _ 0.15D+ 1 - 0.25D
- 0.15
0.1D = 1-0.9
D = T1
S
D/P ratio = 222 4100 = ~% x 2100 = 25%
EPS 4

So, the required dividend pay-out ratio will be = 25%

The following information is taken from ABC Ltd.

Net Profit for the year % 30,00,000
12% Preference share capital %1,00,00,000
Equity share capital (Share of ¥ 10 each) ¥60,00,000
Internal rate of return on investment 22%

Cost of Equity Capital 18%
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Retention Ratio 75%

Calculate the market price of the share using:

(1) Gordon’s Model

(2) Walter’s Model [Jan 21 (5 Marks)]

ANSWER:
Market Prices per share by —
(1) Gordon’s Model:

D, (1
Present market price per share (Po)* = %
. —
OR
D
Present market price per share (P0) = — 2 -
. —

Where,

Po = Present market price per share.

g = Growth rate (br) = 0.75 X 0.22 = 0.165

b = Retention ratio (i.e., % of earnings retained)
r = Internal rate of return (IRR)
Do=Ex(1-b)=3X(1-0.75) = 0.75

E = Earnings per share

0.75 (1 + 0.65) 0.874
o= =

= ¥ 68.27 approx.

018 — 0.165  0.015
E(1-Db
*Alternatively, Py can be calculated as S—br) =350
(2) Walter’s Model:
_ D+ k—re (E-D)
=
0.75 + 222 (3-0.75)
= L =319.44
0.18
Workings:
1. Calculation of Earnings per share
Particulars Amount (%)
Net Profit for the year 30,00,000
Less: Preference dividend (12% of ¥ 1,00,00,000) (12,00,000)
Earnings for equity shareholders 18,00,000
No. of equity shares (¥ 60,00,000/%10) 6,00,000
Therefore, Earnings per share % 18,00,000/6,00,000
=33.00
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(Earning for equity shareholders)
No.of equity shares

2. Calculation of Dividend per share

Particulars

Earnings per share 33
Retention Ratio (b) 75%
Dividend pay-out ratio (1-b) 25%

Dividend per share

(Earnings per share x Dividend pay-out ratio)

¥3x0.25=%0.75

The following information is given:

Dividend per share (DPS)
Cost of capital (K.)
Internal rate of return on investment

Retention Ratio

Rs. 9
19%
24%
25%

CALCULATE the market price per share by using:
(i) Walter’s formula

(ii) Gordon’s formula (Dividend Growth model)

ANSWER:
Working:
Calculation of Earnings per share (EPS):

DPS

EPS = — ,
Dividend Payout Ratio

Rs. 9
1- 0.25

EPS =

= Rs. 12

Market price per share by

(i) Walter’s model:

r 0.24
D+ —(E-D e -~
p Ko ( ) Rs. 9 + 019 (Rs. 12 — Rs. 9)

Ke 0.19
(i) Gordon’s model (Dividend Growth model):

_ Do(1+ g)
Ke—g
Where,

Po

P, = Present market price per share.
g = Growth rate (br) = 0.25 x 0.24 = 0.06
b = Retention ratio

k = Cost of Capital

= Rs. 67.31

[MTP March 21]
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@ www.cadreamers.com l_ ___{

» CA Dreamers the Avenger (© 9354719404



r = Internal rate of return (IRR)
Do = Dividend per share

E = Earnings per share

Rs. 9(1 + 0.06)

0.19 — 0.06
Rs. 9.54
= = Rs. 73.38
0.13

Alternatively
E(1-b)
Pp = ——2
7 k-br
_121-025) _ 9
°~ 019- 006 013

= Rs. 69.23

[*¥} The following data is available in respect of N Ltd. for the year ended 31 March, 2021:

Rs. (in Crore)
Share capital (@ Rs. 10 per share) 25.00
Reserves 15.00
Profit after tax (PAT) 3.70
Dividends paid 3.00
P/E ratio 26.70

Using Walter’s Model:
(i) COMMENT on the firm’s dividend policy;
(ii) DETERMINE the optimum payout ratio and

(iii) DETERMINE the P/E ratio at which dividend payout will have no effect on share price.
[MTP April 21 (5 Marks)]

ANSWER:

Workings:

PAT Rs. 3.
1. Earnings per share (E) = —, S S/ GROME Rs. 1.48

No. of shares 2.5 crore shares

PAT Rs. 3.7 crores

—— x 100 = x 100 = 9.25%
Net worth Rs. (25 + 15) crores

2. Return on Investment (r) =

Dividend paid _  Rs. 3 crores

Je [Divhckems) per diEre (D) ~ No. ofshares _ 2.5 crore shares R 12
Dividend payout ratio _ Dividend 190 = =5 3CXOTS 100 = 81.08%
PAT Rs. 3.7 crores
4. Current Market Price (PO) = P/E Ratiox E = 26.7 x Rs. 1.48 = Rs. 39.52
Growth rate (g) =bxr = (1-0.8108) x 0.0925 = 1.75%
D Rs. 1. .
6. Cost of Capital (Ke) _De) _ Rs 12A+00175) | 5175 — 4.84 %
P, Rs. 39.52
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(i) The value of the share as per Walter’s Model:

r 0.0925
D +—(E-D) 1.2 + (1.48 — 1.2)
% : : :
P — e — P — OR0:E5 = RS. 35.85
K, 0.0484

The firm has a dividend payout of 81.08% (i.e., Rs. 3 crores) out of Profit after tax of
Rs. 3.7 crores with value of the share at Rs. 35.85. The rate of return on investment (r)

is 9.25% and it is more than the K. of 4.84%, therefore, by distributing 81.08% of earnings,
the firm is not following an optimal dividend policy.

(ii) Under Walter’s model, when return on investment is more than cost of capital (r > K.), the
market share price will be maximum if 100% retention policy is followed. So, the optimal
payout ratio would be to pay zero dividend and in such a situation, the market price would
be:

0 + 20925 1 48 — ()

P= 0-0‘;83484 = Rs. 58.44

(iii) The P/E ratio at which dividend payout will have no effect on share price is at which the
K. would be equal to the rate of return (r) of the firm i.e. 9.25%.

_ D(1+g)

So, K. = P—o +8g

0.0925 _ Rs. 1.2 (;+ 0.0175) 1 0.0175
0

~ Po = Rs. 16.28

If PO is Rs. 16.28, then, P/E Ratio will be:

E Rs. 1.48

Therefore, at the P/E ratio of 11, the dividend payout will have no effect on share price.

[*¥F The following information relates to LMN Ltd.

Earning of the company % 30,00,000

Dividend pay-out ratio 60%

No. of shares outstanding 5,00,000

Rate of return on investment 15%

Equity capitalized rate 13%
Required:

(ii) Determine what would be the market value per share as per Walter's model.

(ili) Compute optimum dividend pay-out ratio according to Walter's model and the market
value of company's share at that pay-out ratio. [July 21 (5 Marks)]

ANSWER:

(i) Calculation of market value per share as per Walter’s model

L [0
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r
_ D+ E-D)

P -
Where,
P = Market price per shares.
E = Earnings per share = ¥ 30,00,000//5,00,000 = X 6
D = Dividend per share =¥ 6 x 0.60 = X 3.6
r = Return earned on investment = 15%
Ke = Cost of equity capital = 13%
5 =3.6+%(6—3.6)=?49

0.13

(ii) According to Walter’s model, when the return on investment (r) is more than the cost of equity
capital (Ke), the price per share increases as the dividend pay-out ratio decreases. Hence, the
optimum dividend pay-out ratio in this case is nil.

So, at a pay-out ratio of zero, the market value of the company’s share will be:

_25n070 _ g53054

0.13

P

[ The following information is supplied to you:

Particulars 3

Total Earnings 5,00,000

Equity shares (of 2 100 each) 50,00,000

Dividend paid 3,75,000

Price/Earnings ratio 12.5
Applying Walter’s Model:

(i) Analyse whether the company is following and optimal dividend policy.

(ii) Compute P/E ratio at which the dividend policy will have no effect on the value of the
share.

(iii) WIill your decision change, if the P/E ratio is 8 instead of 12.5? ANALYSE.
[MTP Nov 21 (5 Marks)]

ANSWER:

(i) The EPS of the firm is 10 (i.e. ¥ 5,00,000/ 50,000). r = 5,00,000/ 50,00,000 = 10%. The P/E
Ratio is given at 12.5 and the cost of capital, Ke, may be taken at the inverse of P/E ratio.
Therefore, Ke is 8 (i.e., 1/12.5). The firm is distributing total dividends of the shares as per Walter’s
model may be found as follows:

L [0
» CA Dreamers the Avenger (© 9354719404 & www.cadreamers.com )|_ ={.



r 0.1
D+-— (E-D == (10 —
kg (E-D)  7.5+--(10-7.5)

P= =R 132.81

Ke 0.08

The firm has a dividend payout of 75% (i.e., ¥ 3,75,000) out of total earnings of ¥ 5,00,000.
Since, the rate of return of the firm, r, is 10% and it is more than the Ke of 8%, therefore, by
distributing 75% of earnings, the firm is not following an optimal dividend policy. The optimal
dividend policy for the firm would be to pay zero dividend and in such a situation, the market
price would be,

0+-2L (10-0)

0.0¢ = 156.25
0.08

So, theoretically, the market price of the share can be increased by adopting a zero payout.

(ii) The P/E ratio at which the dividend policy will have no effect on the value of the share is such
at which the Ke would be equal to the rate of return, r, of the firm. The Ke would be 10% (=r)
at the P/E ratio of 10. Therefore, at the P/E ratio of 10, the dividend policy would have no
effect on the value of the share.

(iii) If the P/E is 8 instead of 12.5, then the Ke which is the inverse of P/E ratio, would be 12.5 and
in such a situation ke > r and the market price, as per Walter’s model would be:

91 (10-7.5)

0.125 — % 76
Ke 0.125

D+p—(E-D) 75+
p=—"¢ =

Aakash Ltd. has 10 lakh equity shares outstanding at the start of the accounting year
2021. The existing market price per share is ¥ 150. Expected dividend is X 8 per share. The
rate of capitalization appropriate to the risk class to which the company belongs is 10%.

(i) Calculate the market price per share when expected dividends are: (a) declared, and
(b) not declared, based on the Miller — Modigliani approach.

(ii) Calculate number of shares to be issued by the company at the end of the accounting
year on the assumption that the net income for the year is ¥ 3 crore, investment budget
is ¥ 6 crores, when (a) Dividends are declared, and (b) Dividends are not declared.

(iii) PROOF that the market value of the shares at the end of the accounting year will remain
unchanged irrespective of whether (a) Dividends are declared, or (ii) Dividends are not
declared. [RTP Nov 21]

ANSWER:

(i) Calculation of market price per share

According to Miller — Modigliani (MM) Approach:

Py + Dy
Pp=——7
1+ Ke

Where,

Existing market price (P,) =R 150
Expected dividend per share (D;) =1R%8
Capitalization rate (k.) = 0.10

Kig
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Market price at year end (P;) = to be determined
(a) If expected dividends are declared, then
7150 _ P, + X8
1+ 0.10
o P =R 157
(b) If expected dividends are not declared, then
N 1P-|1- J:).ro
- P =R 165
(ii)  Calculation of number of shares to be issued
(a) (b)
Dividends are Dividends are not
declared (% lakh) Declared (% lakh)
Net income 300 300
Total dividends (80) -
Retained earnings 220 300
Investment budget 600 600
Amount to be raised by new issues 380 300
Relevant market price (X per share) 157 165
No. of new shares to be issued (in lakh) 2.42 1.82
(X 380 + 157;% 300 =+ 165)
(iii)  Calculation of market value of the shares.
(a) (b)
Dividends are Dividends are
declared not Declared
Existing shares (in lakhs) 10.00 10.00
New shares (in lakhs) 2.42 1.82
Total shares (in lakhs) 12.42 11.82
Market price per share (%) 157 165
Total market value of shares at the end of the 12.42 x 157 11.82 x 165
year (X in lakh) = 1,950 (approx.) | =1,950
(approx.)
Hence, it is proved that the total market value of shares remains unchanged irrespective of
whether dividends are declared, or not declared.
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m X Ltd. is a multinational company. Current market price per share is ¥ 2,185. During the
F.Y. 2020-21, the company paid X 140 as dividend per share. The company is expected to
grow @ 12% p.a. for next four years, then 5% p.a. for an indefinite period. Expected rate of
return of shareholders is 18% p.a.

(i) Find outintrinsic value per share.

(ii) State whether shares are overpriced or underpriced.

Year 1 2 3 4 5
Discounting Factor 0.847 0.718 0.608 0.515 0.436
@ 18%
[Nov 21 (5 Marks)]
ANSWER:
As per Dividend discount model, the price of share is calculated as follows:
_ Dy Dy Ds Dy D, (1+8) 1
T A+ K A+ Ke)?  (1+Ke  (1+Ke)t  (Ke—g) © (1+ Ke)t
Where,

P = Price per share
Ke = Required rate of return on equity

g = Growth rate

_ X140x1.12 | X156.80 x 1.12 | ¥175.62x 1.12 | ¥196.69x 1.12 | X220.29 (1 + 0.05) X 1
T 1+ 0.18)t (1+ 0.18)2 (1+0.18)3 (1+0.18)* (0.18 — 0.05) (1+ 0.18)4

P=132.81+126.10 + 119.59 + 113.45 + 916.34 =% 1,408.29

Intrinsic value of share is ¥ 1,408.29 as compared to latest market price of ¥ 2,185. Market price of
shares is over-priced by X 776.71.
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CAPITAL BUDGETING

An existing company has a machine which has been in operation for two years, its
estimated remaining useful life is 4 years with no residual value in the end. Its current market
value is ¥ 3 lakhs. The management is considering a proposal to purchase an improved
model of a machine gives increase output. The details are as under:

Particulars Existing Machine New Machine
Purchase Price % 6,00,000 %10,00,000
Estimated Life 6 years 4 years
Residual Value 0 0
Annual Operating days 300 300
Operating hours per day 6 6
Selling price per unit 310 210
Material cost per unit 32 %2
Output per hour in units 320 240
Labour Cost per hour 320 30
Fixed overhead per annum excluding %1,00,000 260,000
depreciation

Working Capital %1,00,000 %2,00,000
Income-tax rate 30% 30%

Assuming that - cost of capital is 10% and the company uses written down value of
depreciation @ 20% and it has several machines in 20% block.

Advice the management on the Replacement of Machine as per the NPV method.

The discounting factors table given below:

Discounting Factors Year 1 Year 2 Year 3 Year 4
10% 0.909 0.826 0.751 0.683

[July 21 (10 Marks)]

ANSWER:

(i) Calculation of Net Initial Cash Outflows:
Particulars i
Purchase Price of new machine 10,00,000
Add: Net Working Capital 1,00,000
Less: Sale proceeds of existing machine 3,00,000
Net initial cash outflows 8,00,000

45
(© 9354719404 @ www.cadreamers.com }=-={.

» CA Dreamers the Avenger



(ii) Calculation of annual Profit Before Tax and depreciation

Particulars Existing New Machine | Differential
machine
(1) (2) (3) (4)=(3)-(2)
Annual output 36,000 units 72,000 units 36,000 units
3 % %
(A)  Sales revenue @ % 10 per unit 3,60,000 7,20,000 3,60,000
(B)  Cost of Operation
Material @ ¥ 2 per unit 72,000 1,44,000 72,000
Labour
Old = 1,800 x ¥ 20 36,000
New = 1,800 x X 30 54,000 18,000
Fixed overhead excluding 1,00,000 60,000 (40,000)
depreciation
Total Cost (B) 2,08,000 2,58,000 50,000
Profit Before Tax and Depreciation 1,562,000 4,62,000 3,10,000

(PBTD) (A-B)

(iii) Calculation of Net Present value on replacement of machine

Year PBTD 'g';geo/‘jiawt::\;‘ PBT ngf PAT Neftlfvi's" P:’;, /E@ PV

(1) (2) (3) (4 2)2 - (5) (6=4-5) | (7=6+3) (8) (9=7 x8)

1 3,10,000 1,40,000 1,70,000 51,000 1,19,000 | 2,59,000 0.909 2,35,431.000

2 3,10,000 1,12,000 1,98,000 59,400 1,38,600 | 2,50,600 0.826 2,06,995.600

3 3,10,000 89,600 2,20,400 66,120 1,54,280 | 2,43,880 0.751 1,83,153.880

4 3,10,000 71,680 2,38,320 71,496 1,66,824 | 2,38,504 0.683 1,62,898.232
7,88,478.712

Add: Release of net working capital at year end 4 (1,00,000 x 0.683) 68,300.000
Less: Initial Cash Outflow 8,00,000.000
NPV 56.778.712

Advice: Since the incremental NPV is positive, existing machine should be replaced.
Working Notes:
1. Calculation of Annual Output
Annual output = (Annual operating days x Operating hours per day) x output per hour
Existing machine = (300 x 6) x 20 = 1,800 x 20 = 36,000 units
New machine = (300 x 6) x 40 = 1,800 x 40 = 72,000 units

2. Base for incremental depreciation
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Particulars 3
WDV of Existing Machine
Purchase price of existing machine 6,00,000
Less: Depreciation for year 1 1,20,000

Depreciation for year 2 96,000 2,16,000
WDV of Existing Machine (i) 3,84,000
Depreciation base of New Machine
Purchase price of new machine 10,00,000
Add: WDV of existing machine 3,84,000
Less: Sales value of existing machine 3,00,000
Depreciation base of New Machine (ii) 10,84,000
Base for incremental depreciation [(ii) — (i)] 7,00,000

(Note: The above solution have been done based on incremental approach)

Alternatively, solution can be done based on Total Approach as below:

(i) Calculation of depreciation:
Existing Machine

Year 1 Year 2 Year 3 Year 4 Year 5 Year 6
Opening balance 6,00,000 | 4,80,000 | 3,84,000 | 3,07,200 | 2,45,760 | 1,96,608.00
Less: Depreciation@ 20% 1,20,000 96,000 76,800 61,440 49,152 39,321.60
WDV 4,80,000 | 3,84,000 | 3,07,200 | 2,45,760 | 1,96,608 | 1,57,286.40

New Machine
Year 1 Year 2 Year 3 Year 4

Opening balance 10,84,000* 8,67,200 6,93,760 5,55,008.00
Less: Depreciation @ 20% 2,16,800 1,73,440 1,38,752 1,11,001.60
WDV 8,67,200 6,93,760 5,55,008 4,44,006.40

* As the company has several machines in 20% block, the value of Existing Machine from the
block calculated as below shall be added to the new machine of % 10,00,000:

WDV of existing machine at the beginning of the year < 3,84,000
Less: Sale Value of Machine <.3.00,000
WDV of existing machine in the block < 84,000

Therefore, opening balance for depreciation of block = ¥ 10,00,000 + % 84,000 = %
10,84,000

(i) Calculation of annual Cash inflow from Operation:
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Particulars EXISTING MACHINE
Year 3 Year 4 Year 5 Year 6
Annual output (300 operating 36,000 36,000 36,000 36,000
days x 6 operating hours x 20 units units units units
output per hour)
g 4 4 4
(A) Salesrevenue @310 3,60,000.00 | 3,60,000.00 | 3,60,000.00 | 3,60,000.00
per unit
(B) Less: Cost of Operation
Material @ % 2 per unit 72,000.00 72,000.00 72,000.00 72,000.00
Labour @ X 20 per hour 36,000.00 36,000.00 36,000.00 36,000.00
for (300 x 6 ) hours
Fixed overhead 1,00,000.00 | 1,00,000.00 | 1,00,000.00 | 1,00,000.00
Depreciation 76,800.00 61,440.00 49,152.00 39,321.60
Total Cost (B) 2,84,800.00 | 2,69,440.00 | 2,57,152.00 | 2,47,321.60
Profit Before Tax (A — B) 75,200.00 90,560.00 | 1,02,848.00 | 1,12,678.40
Less: Tax @ 30% 22,560.00 27,168.00 30,854.40 33,803.52
Profit After tax 52,640.00 63,392.00 71,993.60 78,874.88
Add: Depreciation 76,800.00 61,440.00 49,152.00 39,321.60
Add: Release of Working
Capital 1,00,000.00
Annual Cash Inflows 1,29,440.00 | 1,24,832.00 | 1,21,145.60 | 2,18,196.48
Particulars NEW MACHINE
Year 1 Year 2 Year 3 Year 4
Annual output (300 operating 72,000 72,000 72,000 72,000
days x 6 operating hours x 40 units units units units
output per hour)
g g 4 4
(A) Salesrevenue @310 7,20,000.00 | 7,20,000.00 | 7,20,000.00 | 7,20,000.00
per unit
(B) Less: Cost of Operation
Material @ % 2 per unit 1,44,000.00 | 1,44,000.00 | 1,44,000.00 | 1,44,000.00
Labour @ X 30 per hour 54,000.00 54,000.00 54,000.00 54,000.00
for (300 x 6) hours
Fixed overhead 60,000.00 60,000.00 60,000.00 60,000.00
Depreciation 2,16,800.00 | 1,73,440.00 | 1,38,752.00 | 1,11,001.60

e
» CA Dreamers the Avenger (© 9354719404 & www.cadreamers.com )|_ ={.




Total Cost (B) 4,74,800.00 | 4,31,440.00 | 3,96,752.00 | 3,69.001.60
Profit Before Tax (A — B) 2,45,200.00 | 2,88,560.00 | 3,23,248.00 | 3,50,998.40
Less: Tax @ 30% 73,560.00 86,568.00 96,974.40 | 1,05,299.52
Profit After Tax 1,71,640.00 | 2,01,992.00 | 2,26,273.60 | 2,45,698.88
Add: Depreciation 2,16,800.00 | 1,73,440.00 | 1,38,752.00 | 1,11,001.60
Add: Release of working
Capital 2,00,000.00
Annual Cash Inflows 3,88,440.00 | 3,75,432.00 | 3,65,025.60 | 5,56,700.48
(iii) Calculation of Incremental Annual Cash Flow:
Particulars Year 1 () Year 2 () Year 3 () Year 4 ()
Existing Machine (A) 1,29,440.00 | 1,24,832.00 | 1,21,145.60 | 2,18,196.48
New Machine (B) 3,88,440.00 | 3,75,432.00 | 3,65,025.60 | 5,56,700.48
Incremental Annual Cash 2,59,000.00 | 2,50,600.00 | 2,43,880.00 | 3,38,504.00
Flow (B - A)
(iv) Calculation of Net Present value on replacement of machine:
Vear | ImcrementatAnual | Discounting 8108 @ | jocyemental Annua
Cash Flow (%) (A x B)
1 2,59,000.00 0.909 2,35,431.000
2 2,50,600.00 0.826 2,06,995.600
3 2,43,880.00 0.751 1,83,153.880
4 3,38,504.00 0.683 2,31,198.232
Total Incremental Inflows 8,56,778.712
Less: Net Initial Cash Outflow (Working note) 8,00,000.000
Incremental NPV 56,778.712

Working Note:

Calculation of Net Initial Cash Outflows:

Advice: Since the incremental NPV is positive, existing machine should be replaced.

Particulars g
Cost of new machine 10,00,000
Less: Sale proceeds of existing machine 3,00,000
Add: incremental working capital required (X 2,00,000 - % 1,00,000) 1,00,000
Net Initial cash outflows 8,00,000
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(W3 Sadbhavna Limited is a manufacturer of computers. It wants to introduce artificial
intelligence while making computers. It estimates that the annual savings from the artificial
intelligence (Al) include a reduction of five employees with annual salaries of ¥ 3,00,000
each, ¥ 3,00,000 from reduction in production delays caused by inventory problem,
reduction in lost sales % 2,560,000 and % 2,00,000 from billing issues.

The purchase price of the system for installation of artificial intelligence is ¥ 20,00,000 with
installation cost of ¥ 1,00,000. The life of the system is § years and it will be depreciated on
a straight-line basis. The salvage value is zero which will be its market value after the end
of its life of five years.

However, the operation of the new system for Al requires two computer specialists with
annual salaries of ¥ 5,00,000 per person. Also, the estimated maintenance and operating
expenses of 1,50,000 is required.

The company’s tax rate is 30% and its required rate of return is 12%.
From the above information:

(i) CALCULATE the initial cash outflow and annual operating cash flow over its life of 5
years.

(ii) Further, EVALUATE the project by using Payback Period, Net Present Value and
Profitability Index.

(iii) You are also REQUIRED to obtain the cash flows and NPV on the assumption that book
salvage value for depreciation purposes is ¥ 2,00,000 even though the machine is
having no real worth in terms of its resale value. Also, the book salvage value of X
2,00,000 is allowed for tax purposes.

Also COMMENT on the acceptability of the project in (ii) and (iii) above.

[MTP Oct 21 (10 Marks)]

ANSWER:

(i) Project’s Initial Cash Outlay
Cost 20,00,000
Installation Expenses 1,00,000
Total Cash Outflow 21,00,000

Depreciation per year = 21,00,000/5 = 4,20,000

Project’s Operating Cash Flows over its 5-year life

Savings (A)

Reduction in salaries (% 3,00,000 x 5) 15,00,000

Reduction in production delays 3,00,000

Reduction in lost sales 2,50,000

Gains due to timely billing 2,00,000
22,50,000

Costs (B)
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— Depreciation

— Maintenance Cost

Increase in Profit before tax (A — B)
Less: Tax @ 30%

Profit after tax

— Additional Specialist Cost (% 5,00,000 x 2)

Cash Inflows = Profit after tax + Depreciation
= 4,76,000 + 4,20,000 = 8,96,000
(i) Evaluation of the project by using NPV Method

4,20,000
10,00,000

1,50,000
15,70,000
6,80,000
2,04,000
4,76,000

= 1.538

= 32,30,080/21,00,000

Year Cash Inflows | PVAF (12%, 5y) Total PV
1-5 8,96,000 3.605 32,30,080
Less: Total Initial Cash Outflow 21,00,000
Net Present Value 11,30,080
Since NPV is positive, therefore, the project is acceptable.
Evaluation of the project by using Profitability Index Method
Profitability Index = Present Value of Cash Inflows/Present Value of Cash Outflows

Since, the profitability index is more than 1, the project is acceptable.

Calculation of the Project’s Payback*

Year Net Cash Flow Cumulative Cash Flow
1 8,96,000 8,96,000
2 8,96,000 17,92,000
3 8,96,000 26,88,000
4 8,96,000 35,84,000
5 8,96,000 44,80,000

= 2.34 years

purpose is ¥ 2,00,000

Here, the payback period is 2 years plus a fraction of the 3rd year
So, payback period = 2 years + 3,08,000/8,96,000

* Payback period may also be solved directly as follows: 21,00,000/8,96,000 = 2.34 years

(ii) Project’s cash flows and NPV assuming that the book salvage for depreciation

Depreciation = (X 21,00,000 - 2,00,000)/5 = 3,80,000
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Cash Inflows for the years 1 to 5 are:

Savings (calculated as earlier) 22,50,000
Less: Costs

— Depreciation 3,80,000

— Additional Specialists cost 10,00,000

— Maintenance cost 1,50,000 15,30,000
Profit before tax 7,20,000
Less: Tax @ 30% 2,16,000
Profit after tax 5,04.000
Cash Inflow (5,04,000 + 3,80,000) 8.84.000

Calculation of NPV

It may be noted that at the end of year 5, the book value of the project would be % 2,00,000
but its realizable value is nil. So, the capital loss of ¥ 2,00,000 will result in tax savings of
60,000 (i.e., X 2,00,000 x 30%), as the capital loss is available for tax purposes in view of the
information given. Therefore, at the end of year 5, there would be an additional inflow of X
60,000. The NPV may now be calculated as follows:

Year Cash Flow (%) PVAF (12%, n) PV
1-5 8,84,000 3.605 31,86,820
5 60,000 0.567 34,020
PV of inflows 32,20,840
Outflows 21,00,000
NPV 11,20,840

As the NPV of the project is positive, the project is acceptable.

Superb Ltd. constructs customized parts for satellites to be launched by USA and
Canada. The parts are constructed in eight locations (including the central headquarter)
around the world. The Finance Director, Ms. Kuthrapali, chooses to implement video
conferencing to speed up the budget process and save travel costs. She finds that, in earlier
years, the company sent two officers from each location to the central headquarter to
discuss the budget twice a year. The average travel cost per person, including air fare,
hotels and meals, is ¥ 27,000 per trip. The cost of using video conferencing is % 8,25,000 to
set up a system at each location plus % 300 per hour average cost of telephone time to
transmit signals. A total 48 hours of transmission time will be needed to complete the budget
each year. The company depreciates this type of equipment over five years by using straight
line method. An alternative approach is to travel to local rented video conferencing
facilities, which can be rented for ¥ 1,500 per hour plus ¥ 400 per hour averge cost for
telephone charges. You are Senior Officer of Finance Department. You have been asked by
Ms. Kuthrapali to EVALUATE the proposal and SUGGEST if it would be worthwhile for the
company to implement video conferencing. [MTP Nov 21 (10 Marks)]
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ANSWER:
Option | : Cost of travel, in case Video Conferencing facility is not provided
Total Trip = No. of Locations X No. of Persons X No. of Trips per Person = 7x2x2 = 28 Trips

Total Travel Cost (including air fare, hotel accommodation and meals) (28 trips x ¥ 27,000 per trip)
=%7,56,000

Option |l : Video Conferencing Facility is provided by Installation of Own Equipment at
Different Locations

Cost of Equipment at each location (X 8,25,000 X 8 locations) = ¥ 66,00,000

Economic life of Machines (5 years). Annual depreciation (66,00,000/5) = ¥ 13,20,000
Annual transmission cost (48 hrs. transmission X 8 locations X ¥ 300 per hour) = ¥ 1,15,200
Annual cost of operation (13,20,000 + 1,15,200) =% 14,35,200

Option Ill : Engaging Video Conferencing Facility on Rental Basis

Rental cost (48 hrs. X 8 location x % 1,500 per hr) = ¥ 5,76,000

Telephone cost (48 hrs.x 8 locations x ¥ 400 per hr.) = ¥ 1,53,600

Total rental cost of equipment (5,76,000 + 1,53,600) =% 7,29,600

Analysis: The annual cash outflow is minimum, if video conferencing facility is engaged on rental
basis. Therefore, Option Il is suggested.

[F®B HMR Ltd. is considering replacing a manually operated old machine with a fully
automatic new machine. The old machine had been fully depreciated for tax purpose but
has a book value of % 2,40,000 on 31st March 2021. The machine has begun causing
problems with breakdowns and it cannot fetch more than % 30,000 if sold in the market at
present. It will have no realizable value after 10 years. The company has been offered %
1,00,000 for the old machine as a trade in on the new machine which has a price (before
allowance for trade in) of ¥ 4,50,000. The expected life of new machine is 10 years with
salvage value of ¥ 35,000.

Further, the company follows straight line depreciation method but for tax purpose, written
down value method depreciation @ 7.5% is allowed taking that this is the only machine in
the block of assets.

Given below are the expected sales and costs from both old and new machine:

Old machine (%) New machine (%)
Sales 8,10,000 8,10,000
Material cost 1,80,000 1,26,250
Labour cost 1,35,000 1,10,000
Variable overhead 56,250 47,500
Fixed overhead 90,000 97,500
Depreciation 24,000 41,500
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PBT 3,24,750 3,87,250
Tax @ 30% 97,425 1,16,175
PAT 2,27,325 2,71,075
From the above information, ANALYSE whether the old machine should be replaced or not
if required rate of return is 10%? Ignore capital gain tax.
PV factors @ 10%:
Year 1 2 3 4 5 6 7 8 9 10
PVF 0.909 | 0.826 | 0.751 | 0.683 | 0.621 | 0.564 | 0.513 | 0.467 | 0.424 | 0.386
[RTP Nov 21]
ANSWER:
Workings:
1. Calculation of Base for depreciation or Cost of New Machine
Particulars )
Purchase price of new machine 4,50,000
Less: Sales price of old machine 1,00,000
3,50,000
2. Calculation of Profit before tax as per books
Particulars Old machine () | New Machine Difference (%)
®)
PBT as per books 3,24,750 3,87,250 62,500
Add: Depreciation as per books 24,000 41,500 17,500
Profit before tax and 3,48,750 4,28,750 80,000
depreciation (PBTD)
Calculation of Incremental NPV
Year | PVF@10% | PBTD (3) Dep. @ PBT (%) Tax @ 30% Cash PV of Cash
7.5% () ®) Inflows (%) Inflows (%)
(1) (2) (3) (4) (5)=(4) x 6)=@4)- | (7)=()x(1)
0.30 (5)+3
1 0.909 80,000.00 | 26,250.00 53,750.00 16,125.00 63,875.00 58,062.38
2 0.826 80,000.00 | 24,281.25 55,718.75 16,715.63 63,284.38 52,272.89
3 0.751 80,000.00 | 22,460.16 57,539.84 17,261.95 62,738.05 47,116.27
4 0.683 80,000.00 | 20,775.64 59,224.36 17,767.31 62,232.69 42,504.93
5 0.621 80,000.00 19,217.47 60,782.53 18,234.76 61,765.24 38,356.21
6 0.564 80,000.00 17,776.16 62,223.84 18,667.15 61,332.85 34,591.73
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7 0.513 80,000.00 16,442.95 63,557.05 19,067.12 60,932.88 31,258.57

8 0.467 80,000.00 15,209.73 64,790.27 19,437.08 60,562.92 28,282.88

9 0.424 80,000.00 14,069.00 65,931.00 19,779.30 60,220.70 25,533.58

10 0.386 80,000.00 13,013.82 66,986.18 20,095.85 59,904.15 23,123.00
3,81,102.44

Add: PV of Salvage value of new machine (% 35,000 x 0.386) 13,510.00
Total PV of incremental cash inflows 3,94,612.44
Less: Cost of new machine 3,50,000.00

Incremental Net Present Value 44.,612.44

Analysis: Since the Incremental NPV is positive, the old machine should be replaced.

¥} Stand Ltd. is contemplating replacement of one of it’s machines which has become
outdated and inefficient. It’s financial manager has prepared a report outlining two possible
replacement machines. The details of each machine are as follows: -

Machine 1 Machine 2
Initial investment 212,00,000 216,00,000
Estimated useful life 3 years 5 years
Residual value 21,20,000 21,00,000
Contribution per annum %11,60,000 212,00,000
Fixed maintenance costs per annum 340,000 80,000
Other fixed operating costs per annum 7,20,000 26,10,000

The maintenance costs are payable annually in advance. All other cash flows apart from the
initial investment assumed to occur at the end of each year. Depreciation has been
calculated by straight line method and has been included in other fixed operating costs. The
expected cost of capital for this project is assumed as 12% p.a..

Required:
(i)

Which machine is more beneficial, using Annualized Equivalent Approach? Ignore tax.

(ii) Calculate the sensitivity of your recommendation in part (i) changes in the contribution
generated by machine 1.
Year 1 2 3 4 5 6
PVIFo.124 0.893 0.797 0.712 0.636 0.567 0.507
PVIFA.12; 0.893 1.690 2.402 3.038 3.605 4.112
[Dec 21 (10 Marks)]
ANSWER:
(i) Calculation of Net Cash Flows
Machine 1
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Other fixed operating costs (excluding depreciation) = 7,20,000 - [(12,00,000 - 1,20,000)/3]
= ¥ 3,60,000
Yea Initial | Contributio Fixed Other fixed | Residua | Net Cash
r | Investmen n | maintenanc operating | | Value flow
t e costs Costs
(excluding
depreciation
)
R®) ®) R®) ®) R®) ®)
0 | (12,00,000) (40,000) (12,40,000
)
1 11,60,000 (40,000) (3,60,000) 7,60,000
2 11,60,000 (40,000) (3,60,000) 7,60,000
3 11,60,000 (3,60,000) | 1,20,000 9,20,000
Machine 2
Other fixed operation costs (excluding depreciation) = 6,10,000 — [16,00,000 — 1,00,000)/5] =
% 3,10,000
Yea Initial | Contributio Fixed Other fixed | Residua | Net Cash
r | Investmen n | maintenanc operating | |Value flow
t e costs Costs
(excluding
depreciation
)
R®) ®) ®) ®) R®) R®)
0 | (16,00,000) (80,000) (16,80,000
)
1 12,00,000 (80,000) (3,10,000) 8,10,000
2 12,00,000 (80,000) (3,10,000) 8,10,000
3 12,00,000 (80,000) (3,10,000) 8,10,000
4 12,00,000 (80,000) (3,10,000) 8,10,000
5 12,00,000 (3,10,000) | 1,00,000 9,90,000
Calculation of Net Present Value
Machine 1 Machine 2
Year | 12% discount Net cash Present Net cash Present
factor flow () value (%) flow (%) value (%)
0 1.000 | (12,40,000) (12,40,000) | (16,80,000) (16,80,000)
1 0.893 7,60,000 6,78,680 8,10,000 7,23,330
2 0.797 7,60,000 6,05,720 8,10,000 6,45,570
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0.712 9,20,000 6,55,040 8,10,000 5,76,720

4 0.636 8,10,000 5,15,160
0.567 9,90,000 5,61,330

NPV @ 12% 6,99,440 13,42,110

PVAF @ 12% 2.402 3.605

Equivalent Annualized Criterion 2,91,190.674 3,72,291.262

Recommendation: Machine 2 is more beneficial using Equivalent Annualized
Criterion.

(ii) Calculation of sensitivity of recommendation in part (i) to changes in the contribution
generated by machine 1

Defference in Equivalent Annualized Criterion of Machines required for changing the
recommendation in part (i) = 3,72,291.262 - 2,91,190.674 = X 81,100.588

381,100.588

SR 100 = 6,991 or 7% yearly

=~ Sensitivity relating to contribution =

Alternatively,

The annualized equivalent cash flow for machine 1 is lower by X (3,72,291.262— 2,91,190.674)
= 381,100.588 than for machine 2. Therefore, it would need to increase contribution for
complete 3 years before the decision would be to invest in this machine.

Sensitivity w.r.t contribution = 81,100.588 / (11,60,000 x 2.402) x 100 = 2.911%

[fX3 PRI Ltd. and SHA Ltd. are identical, however, their capital structure (in market-value
terms) differs as follows:

Company Debt Equity
PRI Ltd. 60% 40%
SHA Ltd. 20% 80%

The following rate for both companies is 8% in a no-tax world and capital markets are
assumed to be perfect.

(@) (i) If Mr. Rhi, owns 6% of the equity shares of PRI Ltd., Determine his return if the

Company has net operating income of ¥ 9,00,000 and the overall capitalization
rate of the company (KO) is 18%.

(ii) CALCULATE the implied required rate of return on equity of PRI Ltd.
(b) SHA Ltd. Has the same net operating income as PRI Ltd.
(i) CALCULATE the implied required equity return of SHA Ltd.

(ii) ANALYSE why does it differ from that of PRI Ltd. [MTP March 22 (10 Marks)]

ANSWER:

NOI %9,00,000
Value of PRI Ltd. = =
Ko 18%

= % 50,00,000
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(@) (i) Returnon Shares of Mr. Rhi on PRI Ltd.

Particulars Amount (%)
Value of the company 50,00,000
Market value of debt (60% x ¥ 50,00,000) 30,00,000
Market value of shares (40% x % 50,00,000) 20,00,000
Particulars Amount (%)
Net operating income 9,00,000
Interest on debt (8% x ¥ 30,00,000) 2,40,000
Earnings available to shareholders 6,60,000
Return on (6% x % 6,60,000) 30,600
(ii) Implied required rate of return on equity of PRI Ltd. = :26(;’60% = 33%

(b) (i) Calculation of Implied rate of return of SHA Ltd.

Particulars Amount (%)
Total value of company 50,00,000
Market value of debt (20% x ¥ 50,00,000) 10,00,000
Market value of equity (80% x ¥ 50,00,000) 40,00,000
Particulars Amount (%)
Net operating income 9,00,000
Interest on debt (8% x % 10,00,000) 80,000
Earnings available to shareholders 8,20,000
Implied required rate of return on equity = :48(;,20% =20.5%

(ii) Implied required rate of return on equity of SHA Ltd. is lower than that of PRI Ltd. because
SHA Ltd. uses less debt in its capital structure. As the equity capitalisation is a linear function
of the debt-to-equity ratio when we use the net operating income approach, the decline in
required equity return offsets exactly the disadvantage of not employing so much in the
way of “cheaper” debt funds.

A Manufacturing company is presently paying a garbage disposer company % 0.50 per
kilogram to dispose-off the waste resulting from its manufacturing operations. At normal
operating capacity, the waste is about 2,00,000 kilograms per year.

After spending ¥ 1,20,000 on research, the company discovered that the waste could be
sold for X 5 per kilogram if it was processed further. Additional processing would, however,
require an investment of ¥ 12,00,000 in new equipment, which would have an estimated life
of 10 years with no salvage value. Depreciation would be calculated by straight line method.
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No Change in the present selling and administrative expenses is expected except for the
costs incurred in advertising ¥ 40,000 per year, if the new product is sold. Additional
processing costs would include variable cost of ¥ 2.50 per kilogram of waste put into
process along with fixed cost of ¥ 60,000 per year (excluding Depreciation).

There will be no losses in processing, and it is assumed that the total waste processed in a
given year will be sold in the same year. Estimates indicate that 2,00,000 kilograms of the
product could be sold each year.

The management when confronted with the choice of disposing off the waste or processing
it further and selling it, seeks your ADVICE Which alternative would you RECOMMEND?
Assume that the firm’s cost of capital is 15% and it pays on and average 50% Tax on its
income.

Consider Present value of Annuity of ¥ 1 per year @ 15% p.a. for 10 years as 5.019.
[MTP March 22 (10 Marks)]

ANSWER:
Evaluation of Alternatives:

Savings in disposing off the waste

Particulars ®)
Outflow (2,00,000 x X 0.50) 1,00,000
Less: tax savings @ 50% 50,000
Net Outflow per year 50,000
Calculation of Annual Cash Inflows in Processing of waste Material

Particulars Amount (%) Amount (%)
Sale value of waste (X 5 x 2,00,000 kilograms) 10,00,000
Less: Variable processing cost (X 2,50 x 2,00,000 kilograms) 5,00,000

Less: Fixed processing cost 60,000

Less: Advertisement cost 40,000

Less: Depreciation 1,20,000 (7,20,000)
Earnings before tax (EBT) 2,80,000
Less: Tax @ 50% (1,40,000)
Earnings after tax (EAT) 1,40,000
Add: Depreciation 1,20,000
Annual Cash inflows 2,60,000

Total Annual Benefits = Annual Cash inflows + Net savings (adjusting tax) in disposal cost
= ¥ 2,60,000 + % 50,000 + 3,10,000

Calculation of Net Present Value
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Year | Particulars Amount (%)
0 Investment in new equipment (12,00,000)
1to 10 | Total Annual benefits x PVAF (10 years, 15%)
¥ 3,10,000 x 5.019 15,55,890
Net Present Value 3,565,890
Recommendation: Processing of waste is a better option as it gives a positive Net Present Value.
Note: Research Cost of % 1,20,000 is not relevant for decision making as it is sunk cost.
[fXE} ABC & Co. is considering whether to replace an existing machine or to spend money
on revamping it. ABC & Co. currently pays no taxes. The replacement machine costs
18,00,000 now and requires maintenance of % 2,00,000 at the end of every year for eight
years. At the end of eight years, it would have a salvage value of X 4,00,000 and would be
sold. The existing machine requires increasing amounts of maintenance each year and its
salvage value fall each year as follows:
Year Maintenance (%) Salvage (%)
Present 0 8,00,000
1 2,00,000 5,00,000
2 4,00,000 3,00,000
3 6,00,000 2,00,000
4 8,00,000 0
The opportunity cost of capital for ABC & Co. is 15%.
REQUIRED:
When should the company replace the machine?
The Following present value table is given for you:
Year Present value of ¥ 1 at 15%
discount rate
1 0.8696
2 0.7561
3 0.6575
4 0.5718
5 0.4972
6 0.4323
7 0.3759
8 0.3269
[RTP May 22]
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ANSWER:
ABC & Co.

Equivalent Annual Cost (EAC) of new machine

()
(i) Cost of new machine now 18,00,000
Add: PV of annual repairs @ ¥ 2,00,000 per annum for 8 years (%
2,00,000 x 4.4873) 8,97,460
26,97,460
Less: PV of salvage value at the end of 8 years
(X 4,00,000 x 0.3269) 1,30,760
25,66,700
Equivalent annual cost (EAC) (X 25,66,700/4.473) 5,71,992
PV of cost of replacing the old machine in each of 4 years with new machine
Scenario Year Cash Flow PV @ 15% PV
) )
Replace Immediately 0 (5,71,992) 1.00 (5,71,992)
0 8,00,000 1.00 8,00,000
2,28,008
Replace in one year 1 (5,71,992) 0.8696 (4,97,404)
1 (2,00,000) 0.8696 (%1,73,920)
1 5,00,000 0.8696 4,34,800
(2,36,524)
Replace in two years 1 (2,00,000) 0.8696 (1,73,920)
2 (5,71,992) 0.7561 (4,32,483)
2 (4,00,000) 0.7561 (3,02,440)
2 3,00,000 0.7561 2,26,830
(6,82,013)
Replace in three years 1 (2,00,000) 0.8696 (1,73,920)
2 (4,00,000) 0.7561 (3,02,440)
3 (5,71,992) 0.6575 (3,76,085)
3 (6,00,000) 0.6575 (3,94,500)
3 2,00,000 0.6575 1,31,500
(11,15,445)
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Replace in four years 1 (2,00,000) 0.8696 (1,73,920)
2 (4,00,000) 0.7561 (3,02,440)

3 (6,00,000) 0.6575 (3,94,500)

4 (5,71,992) 0.5718 (3,27,065)

4 (8,00,000) 0.5718 (4,57,440)

(16,55,365)

Advice: The company should replace the old machine immediately because the PV of cost of replacing
the old machine with new machine is least.
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FINANCIAL STATEMENT ANALYSIS

Following information relates to RM Co. Ltd.

)
Total Assets employed 10,00,000
Direct Cost 5,50,000
Other Operating Cost 90,000

Goods are sold to the customers at 150% of direct costs.

50% of the assets being financed by borrowed capital at an interest cost of 8% per annum.
Tax rate is 30%.

You are required to calculate :

(i) Net profit margin

(ii) Return on Assets

(iii) Asset turnover

(iv) Return on owners' equity [Nov 2020 (5 Marks)]

ANSWER:

Computation of net profit:

Particulars R®)
Sales (150% of % 5,50,000) 8,25,000
Direct Costs 5,50,000
Gross profit 2,75,000
Other Operating Costs 90,000
Operating profit (EBIT) 1,85,000
Interest changes (8% of ¥ 5,00,000) 40,000
Profit before taxes (EBT) 1,45,000
Taxes (@30%) 43,500
Net profit after taxes (EAT) 1,01,500

Profit after taxes _ 31,01,500
Sales 38,25,000

(i)  Net profit margin (After tax) = =0.12303 or 12.303%

Profit before taxes _ X1,45,000
Sales X 8,25,000

Net profit margin (Before tax)= =0.17576 or 17.576%

_ EBIT@-T) _ 31,85000(1-03) = 0.1295 or 12.95%

" Total Assets 210,00,000

(ii)  Return on assets

Sael 38,25,000
(iii) __ Saels __

Assets turnover = = =0.825 times
Assets X10,00,000
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__ Profit after taxes 31.01.500

(iv) Return on owner’s equity = — = =0.203 or 20.3%
Owners equtiy 50% x X10,00,000

63 From the following information, complete the Balance Sheet given below:

(i) Equity Share Capital : % 2,00,000
(ii) Total debt to owner's equity : 0.75
(iii) Total Assets turnover : 2 times
(iv) Inventory turnover : 8 times
(v) Fixed Assets to owner's equity 0.60
(vi) Current debt to total debt : 0.40
Balance Sheet of XYZ Co. as on March 31, 2020
Liabilities Amount (%) Assets Amount (%)

Equity Shares Capital 2,00,000 Fixed Assets ?

Long term Debt ? Current Assets:

Current Debt ? Inventory

Cash

[Jan 21 (5 Marks)]

ANSWER:
Balance Sheet of XYZ Co. as on March 31, 2020
Liabilities Amount (%) Assets Amount (%)
Equity Share Capital 2,00,000 Fixed Assets 1,20,000
Long-term Debt 90,000 Current Assets:
Current Debt 60,000 Inventory 87,500
Cash (balancing figure) 1,42,500
3,50,000 3,50,000
Working Notes

1.  Total Debt = 0.75 x Equity Share Capital = 0.75 x ¥ 2,00,000 = ¥ 1,50,000
Further, Current Debt to Total Debt = 0.40.
So, Current Debt = 0.40 x ¥ 1,50,000 = ¥ 60,000
Long term Debt = % 1,50,000 - ¥ 60,000 = % 90,000
2. Fixed Assets = 0.60 x Equity Share Capital = 0.60 x ¥ 2,00,000 = % 1,20,000
3. Total Assets to Turnover = 2 times; Inventory Turnover = 8 times
Hence, Inventory /Total Assets = 2/8 =1/4
Further, Total Assets = ¥ 2,00,000 + X 1,50,000 = ¥ 3,50,000
Therefore, Inventory = ¥ 3,50,000/4 =¥ 87,500
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Cash in Hand = Total Assets — Fixed Assets — Inventory

= ¥ 3,50,000 - % 1,20,000 - X 87,500 = % 1,42,500

Given below are the estimation for the next year by Niti Ltd.

Particulars (R in crores)
Fixed Assets 5.20
Current Liabilities 4.68
Current Assets 7.80
Sales 23.00
EBIT 2.30

The company will issue equity funds of % 5 crores in the next year. It is also considering the
debt alternatives of X 3.32 crores for financing the assets. The company wants to adopt one
of the policies given below:

(X in crores)

Financing Policy Short term debt @ 12%| Long term debt @ 16% Total
Conservative 1.08 2.24 3.32
Moderate 2.00 1.32 3.32
Aggressive 3.00 0.32 3.32

Assuming corporate tax rate at 30%, CALCULATE the following for each of the financing
policy:

(i) Return on total assets
(ii) Return on owner's equity
(iii) Net Working capital

(iv) Current Ratio

Also advise which Financing policy should be adopted if the company wants high returns.
[RTP May 21]

ANSWER:

(i) Return on total assets

3 EBIT (1 - T)
" Total assets (FA + CA)

Return on total assets

X 2.30 crores (1 — 0.3)
X5.20 crores + X7.80 crores

X 1.61 crores

= —— =0.1238 or 12.38%

X 13 crores

(ii) Return on total assets

(Amount in %)

Financing policy (%)
Conservative Moderate Aggressive
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Expected EBIT 2,30,00,000 2.30,00,000 2.30,00,000
Less: Interest
Short term Debt @ 12% 12,96,000 24,00,000 36,00,000
Long term Debt @ 16% 35,84,000 21,12,000 5,12,000
Earnings before tax (EBT) 1,81,20,000 1,84,88,000 1,88.,88,000
Less: Tax @ 30% 54,36,000 55,46,400 56,66,400
Earnings after Tax (EAT) 1,26,84,000 1,29,41,600 1,32,21,600
Owner's Equity 5,00,00,000 5,00,00,000 5,00,00,000
Return on owner’s equity _ 1,26,84,000 _ 1,29,41,600 _ 1,32,21,600
Net Profit after taxes (EAT) ~ 5,00,00,000 ~ 5,00,00,000 " 5,00,00,000
25.37% 25.88% 26.44%

(iii) Net Working capital

(R in crores)

Financing policy

Conservative, Moderate | Aggressive
Current Liabilities (Excluding Short Term Debt) 4.68 4.68 4.68
Short term Debt 1.08 2.00 3.00
Total Current Liabilities 576 6.68 7.68
Current Assets 2 80 2 80 2 80
Net Working capital 7.80-5.76 7.80-6.68 | 7.80 - 7.68
= Current Assets - Current Liabilities =2.04 = 1.12 = 0.12

(iv) Currentratio

(R in crores)

Financing policy

Conservative Moderate Aggressive
: 7.80 7.80 7.80
Current Ratio ==— =135 === =117 ==— =1.02
_ Current Assets 5.76 6.68 7.68
" Current Libilites

Advise: It is advisable to adopt aggressive financial policy, if the company wants high return as
the return on owner's equity is maximum in this policy i.e. 26.44%.

Masco Limited has furnished the following ratios and information relating to the year
ended 31° March 2021:

Sales % 75,00,000
Return on net worth 25%
Rate of income tax 50%
Share capital to reserves 6:4
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Current ratio 2.5

Net profit to sales (After Income Tax) 6.50%
Inventory turnover (based on cost of goods sold) 12
Cost of goods sold 22,50,000
Interest on debentures % 75,000
Receivables (includes debtors X 1,25,000) %2,00,000
Payables 2,50,000
Bank Overdraft %1,50,000

You are required to:
(a) Calculate the operating expenses for the year ended 31 March, 2021.

(b) Prepare a balance sheet as on 31° March in the following format:

Liabilities 3 Assets g
Share Capital Fixed Assets

Reserves and Surplus Current Assets

15% Debentures Stock

Payables Receivables

Bank Term Loan Cash

[July 21 (10 Marks)]

ANSWER:

(a) Calculation of Operating Expenses for the year ended 31 March, 2021
Particulars ®)
Net Profit [@ 6.5% of Sales] 4,87,500
Add: Income Tax (@ 50%) 4,87,500
Profit Before Tax (PBT) 9,75,000
Add: Debenture Interest 75,000
Profit before interest and tax (PBIT) 10,50,000
Sales 75,00,000
Less: Cost of goods sold 22,50,000

PBIT 10,50,000 33,00,000

Operating Expenses 42,00,000

(b) Balance Sheet as on 31 March, 2021
Liabilities 3 Assets %
Share Capital 11,70,000 | Fixed Assets 18,50,000
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Reserve and Surplus 7,80,000 | Current Assets
15% Debentures 5,00,000 Stock 1,87,500
Payables 2,50,000 Receivables 2,00,000
Bank Overdraft (or Bank Term 1,50,000 Cash 6,12,500
Loan)

28,50,000 28,50,000

Working Notes:
(i) Calculation of Shares Capital and Reserves

The return on net worth is 25%. Therefore, the profit after tax of ¥ 4,87,500 should be
equivalent to 25% of the net worth.

Net worth x 22 = % 4,87,500
100

_%4,87,500 X 100
100

= Net worth =% 19,50,000

The ratio of share capital to reserves is 6:4
Share Capital = 19,50,000 x 6/10 = ¥ 11,70,000
Reserves = 19,50,000 x 4/10 = % 7,80,000

(ii) Calculation of Debentures

Interest on Debentures @ 15% (as given is the balance sheet format) = ¥ 75,000

75,000 x 100

= ¥ 5,00,000
15

~ Debentures =

(iii) Calculation of Current Assets
Current Ratio = 2.5
Payables =¥ 2,50,000
Bank overdraft = ¥ 1,50,000
Total Current Liabilities = ¥ 2,50,000 + % 1,50,000 = X 4,00,000
=~ Current Assets = 2.5 x Current Liabilities = 2.5 x 4,00,000 = ¥ 10,00,000

(iv) Calculation of Fixed Assets

Particulars 3
Share capital 11,70,000
Reserves 7,80,000
Debentures 5,00,000
Payables 2,50,000
Bank overdraft 1,50,000
Total Liabilities 28,50,000
Less: Current Assets 10,00,000
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Fixed Assets 18,50,000

(v) Calculation of Composition of Current Assets

Inventory Turnover = 12

Cost of goods sold
g =12

Closing stock

Closing stock = ﬂz‘i% = Closing stock = ¥ 1,87,500
Particulars 3
Stock 1,87,500
Receivables 2,00,000
Cash (balancing figure) 6,12,500
Total Current Assets 10,00,000

[*¥F The following figures and ratios are related to a company:

(i) Sales for the year (all credit) %30,00,000
(ii)  Gross Profit ratio 25 percent
(iii) Fixed assets turnover (based on cost of goods sold) 1.5

(iv) Stock turnover (based on cost of goods sold) 6

(v)  Liquid ratio 1:1

(vi) Current ratio 1.5:1
(vii) Receivables (Debtors) collection period 2 months
(viii) Reserves and surplus to Share capital 0.6:1
(ix) Capital gearing ratio 0.5

(x) Fixed assets to net worth 1.20:1

You are REQUIRED to prepare:
(d) Balance Sheet of the company on the basis of above details.

(e) The statement showing working capital requirement, if the company wants to make a
provision for contingencies @ 10 percent of net working capital including such
provision.

[MTP Oct 21 (10 Marks)]

ANSWER:
Working Notes:
(i) Cost of Goods Sold = Sales — Gross Profit (25% of Sales)
= ¥ 30,00,000 - % 7,50,000
=¥ 22,50,000
(ii) Closing Stock = Cost of Goods Sold / Stock Turnover

» CA Dreamers the Avenger (© 9354719404 & www.cadreamers.com ’n:{.




=X 22,50,000/6 = X 3,75,000
(iii) Fixed Assets = Cost of Goods Sold / Fixed Assets Turnover
=% 22,50,000/1.5
= ¥ 15,00,000
(iv) Current Assets:
Current Ratio = 1.5 and Liquid Ratio =1
Stock = 1.5 -1 = 0.5
Current Assets = Amount of Stock X 1.5/0.5
=X 3,75,000 x 1.5/0.5 = % 11,25,000
(v) Liquid Assets (Debtors and Cash)
= Current Assets — Stock
= ¥ 11,25,000 - X 3,75,000
=% 7,50,000
(vi) Debtors = Sales X Debtors Collection period /12
= ¥ 30,00,000 x 2 /12

= ¥ 5,00,000
(vii) Cash = Liquid Assets — Debtors

=¥ 7,50,000 - ¥ 5,00,000 = % 2,50,000
(viii) Net worth = Fixed Assets /1.2

=% 15,00,000/1.2 = ¥ 12,50,000

(ix) Reserves and Surplus

Reserves and Share Capital =06+1=16
Reserves and Surplus =% 12,50,000 x 0.6/1.6
=3 4,68,750

(x) Share Capital = Net worth — Reserves and Surplus
=% 12,50,000 - X 4,68,750
=% 7,81,250
(xi) Current Liabilities = Current Assets/Current Ratio
= ¥ 11,25,000/1.5 = ¥ 7,50,000
(xii) Long-term Debts
Capital Gearing Ratio = Long-term Debts / Equity Shareholders’ Fund
Long-term Debts = % 12,50,000 x 0.5 = ¥ 6,25,000
(a) Preparation of Balance Sheet of a Company

Balance sheet
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Liabilities Amount (%) Assets Amount (%)
Equity Share Capital 7,81,250 Fixed Assets 15,00,000
Reserves and Surplus 5,68,750 Current Assets
Long-term Debts 6,25,000 Stock 3,75,000
Current Liabilities 7,50,000 Debtors 5,00,000
Cash 2,50,000
26,25,000 26,25,000

(b) Statement Showing Working Capital Requirement

) ®)
Current Assets
(i) Stocks 3,75,000
(ii) Receivables (Debtors) 5,00,000
(iii)  Cash in hand & at bank 2,50,000
A. Current Assets: Total 11,25,000
Current Liabilities
B. Current Liabilities: Total 7,50,000
Net Working Capital (A — B) 3,75,000
Add: Provision for contingencies 41,667
(179t of Net Working Capital)
Working capital requirement 4,16,667

X} Jensen and spencer pharmaceutical is in the business of manufacturing
pharmaceutical drugs including the newly invented Covid vaccine. Due to increase in
demand of Covid vaccines, the production had increased at all time high level and the
company urgently needs a loan to meet the cash and investment requirements. It had
already submitted a detailed loan proposal and project report to Expo-Impo bank, along with
the financial statements of previous three years as follows:

Statement of Profit and Loss (InX ‘000)
2018-19 2019-20 2020-21

Sales

Cash 400 960 1,600

Credit 3,600 8,640 14,400
Total sales 4,000 9,600 16,000
Cost of goods sold 2,480 5,664 9,600
Gross profit 1,52 3,936 6,400
Operating expenses:
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General, administration, and selling expenses 160 900 2,000
Deprecation 200 800 1,320
Interest expenses (on borrowing) 120 316 680
Profit before tax (PBT) 1,040 1,920 2,400
Tax @ 30% 312 576 720
Profit after tax (PAT) 728 1,344 1,680
BALANCE SHEET (In% ‘000)

2018-19 2019-20 2020-21

Assets

Non-Current Assets

Fixed assets (net of depreciation) 3,800 5,000 9,400
Current Assets

Cash and cash equivalents 80 200 212

Account receivable 600 3,000 4,200

Inventories 640 3,000 4,500
Total 5,120 11,200 18,312
Equity & Liabilities
Equity share capital (shares of ¥ 10 each) 2,400 3,200 4,000
Other Equity 728 2,072 3,752
Non-Current borrowings 1,472 2,472 5,000
Current liabilities 520 3,456 5,560
Total 5,120 11,200 18,312

INDUSTRY AVERAGE OF KEY RATIOS

Ratio Sector Average
Current Ratio 2.30:1
Acid test ratio (quick ratio) 1.20:1
Receivable turnover ratio 7 times
Inventory turnover ratio 4.85 times
Long-term debt to total debt 24%
Debt-to-equity ratio 35%

Net profit ratio 18%
Return on total assets 10%
Interest coverage ratio (times interest earned) 10

As a loan officer of Expo-Impo Bank, you are REQUIRED to apprise the loan proposal on the
basis of comparison with industry average of key ratios considering closing balance for
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accounts receivable of ¥ 6,00,000 and inventories of % 6,40,000 respectively as on 31st

March, 2018. [MTP Nov 21 (10 Marks)]
ANSWER:
(In T ‘000)
Ratio Formula 2018-19 2019-20 2020-21 Industry
Average
Current Current Assets 1,320 6,200 8,912 2.30:1
ratio Current Liabilites 520 3,456 5,560
=2.54 =1.80 =1.60
Acid test Quick Assets 680 3,200 4,412 1.20:1
ratio (quick Current Liabilites 520 3,456 5,560
ratio)
Receivable Credit Sales 3,600 8,640 14,400 7 times
turnover Average Accoutns Receivable (600 + 600)/2 | (600 + 3,000)/2 | (3,000 + 4,200)/2
(1T =6 = 4.80 =4
Inventory COGS 2,480 5.664 9,600 4.85 times
turnover Average Inventory (640 + 640)/2 | (640 + 3,000)/2 | (3,000 + 4,500)/2
ratio = 3.88 = 3.1 =2.56
Long-term Long term Debt . 141 1472 . 100 2472 . 100 5000 . 100 24%
debt to Total Debt 1,992 5,928 10,560
total debt = 73.90% = 41.70% = 47.35%
Debt-to- _Longterm BBty 100 272 100 2272 x 100 599 x 100 35%
equity ratio Shareholders’ Equity 3,128 5,272 7,752
= 47.06% = 46.89% = 64.50%
Net Profit NetProfit . 100 728 100 3 100 2 5100 18%
=ite Sales 4,000 9,600 16,000
= 18.2% = 14% = 10.5%
Return on Net Profit after taxes % 100 728 % 100 1,344 % 100 1,680 % 100 10%
total assets Total assets 5,120 11,200 18,312
= 14.22% =12% = 9.17%
Interest EBIT 1,160 2,236 3,080 10
coverage Interest 120 316 680
ratio (times =9.67 =7.08 = 4.53
interest
earned)
Conclusion:

In the last two years, the current ratio and quick ratio are less than the ideal ratio (2:1 and 1:1
respectively) indicating that the company is not having enough resources to meet its current
obligations. Receivables are growing slower. Inventory turnover is slowing down as well, indicating a
relative build-up in inventories or increased investment in stock. High Long-term debt to total debt
ratio and Debt to equity ratio compared to that of industry average indicates high dependency on
long term debt by the company. The net profit ratio is declining substantially and is much lower than
the industry norm. Additionally, though the Return on Total Asset (ROTA) is near to industry average,
it is declining as well. The interest coverage ratio measures how many times a company can cover its
current interest payment with its available earnings. A high interest coverage ratio means that an
enterprise can easily meet its interest obligations, however, it is declining in the case of Jensen &
Spencer and is also below the industry average indicating excessive use of debt or inefficient

operations.
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On overall comparison of the industry average of key ratios than that of Jensen & Spencer, the
company is in deterioration position. The company’s profitability has declined steadily over the
period. However, before jumping to the conclusion relying only on the key ratios, it is pertinent to
keep in mind the industry, the company dealing in with i.e. manufacturing of pharmaceutical drugs.
The pharmaceutical industry is one of the major contributors to the economy and is expected to grow
further. After the coved situation, people are more cautious towards their health and are going to
financial and non-financial, needs to be kept in mind.

Following information has been gathered from the books of Cram Ltd. for the year
ended 31° March 2021, the equity shares of which is trading in the stock market at ¥ 28:

Particulars Amount (%)
Equity Share Capital (Face value @ X 20) 20,00,000
10% Preference Share capital 4,00,000
Reserve & Surplus 16,00,000
12.5% Debentures 12,00,000
Profit before Interest and Tax for the year 8,00,000

CALCULATE the following when company falls within 25% tax bracket:
(i) Return on Capital Employed
(ii) Earnings Per Share

(iii) P/E Ratio [RTP Nov 21]

ANSWER:
(i) Return on Capital Employed (ROCE)

Profit before interest and taxes (PBIT)

ROCE (Pre-tax) = Capital Employed x 100
3
_ 800,000 100
%52,00,000
= 15.38% (approx.)
_ PBIT (1-t)
ROCE (Post —tax) = Capital Employed x 100

X8,00,000 (1—0.25)
= x 100
X52,00,000

= 11.54% (approx.)
(ii) Earnings Per Share (EPS)

Profit available to equity share holders

Number of equity shares outstanding

24,47,500
"~ %1,00,000

=34.475
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(iii) P/E Ratio
Market Price per Share (MPS)
Earning per Share (EPS)

%28
T 34475

= 6.26 times (approx.)
Workings:

(a) Income Statement

Particulars Amount (%)
Profit before Interest and Tax (PBIT) 8,00,000
Interest on Debentures (12.5% of ¥ 12,00,000) (1,50,000)
Profit before Tax (PBT) 6,50,000
Tax @ 25% (1,62,500)
Profit after Tax (PAT) 4,87,500
Preference Dividend (10% of ¥ 4,00,000) (40,000)
Profit available to Equity shareholders 4,47,500

(b) Calculation of Capital Employed
= Equity Shareholder's Fund + Preference share Capital + Debentures
= (% 20,00,000 + ¥ 16,00,000) + ¥ 4,00,000 + ¥ 12,00,000 = ¥ 52,00,000

[*X:} Following are the data in respect of ABC Industries for the year ended 31 March, 2021:

Debt to total assets ratio : 0.40

Long-term debts to equity ratio : 30%

Gross profit margin on sales : 20%

Accounts receivables period : 36 days

Quick ratio : 0.9

Inventory holding period : 55 days

Cost of goods sold : % 64,00,000

Liabilities 3 Assets g

Equity Share Capital 20,00,000 | Fixed assets
Reserves & surplus Inventories
Long-term debts Accounts receivable
Accounts payable Cash
Total 50,00,000 Total

75
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Required:

Complete the Balance Sheet of ABC Industries as on 31° March, 2021. All calculations

should be in nearest Rupee. Assume 360 days in a year. [Dec 21 (10 Marks)]

ANSWER:

Working Notes:

(1) Total liability = Total Assets = ¥ 50,00,000
Debt to Total Asset Ratio = 0.40
DM _ 940
Total Assets

r—2t _ 0.40
50,00,000
So, Debt = 20,00,000
(2) Total Liabilities = ¥ 50,00,000

Equity share Capital + Reserves + Debt = % 50,00,000
So, Reserves = ¥ 50,00,000 - % 20,00,000 - % 20,00,000
So, Reserves & Surplus =3%10,00,000

®) Ty Sherehorgersrans = 30%"
(zo,]c;g,rcl)go;e:n;o],)cfc?;oo) - U
Long Term Debt =% 9,00,000

(4) So, Accounts Payable = ¥ 20,00,000 - % 9,00,000
Accounts Payable =% 11,00,000

(5) Gross Profit to sale = 20%
Cost of Goods Sold = 80% of Sales = ¥ 64,00,000
Sales = — x 64,000 = 80,00,000

360

(6) Inventory Turnover ==

COGS _ 360
Closing inventory T
64,00,000 _ 360
Closing inventory T
Closing inventory =9,77,778
(7) Accounts Receivable period = 36 days
Accounts Receivable
. x 360 = 36
Credit Sales
. 36 .
Accounts Receivable = — x credit sales

360

= 3% x 80,00,000 (assumed all sales are on credit)

L7 [0
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Accounts Receivable =% 8,00,000
(8) Quick Ratio = 0.9
Cu?rzlnctk L?:ts)?ltiiies =02
e
Cash = 8,00,000 =¥ 9,90,000
Cash =%1,90,000
(9) Fixed Assets = Total Assets — Current Assets = 50,00,000 - (9,77,778 + 8,00,000 + 1,90,000)
= 30,32,222
Balance Sheet of ABC Industries as on 31° March 2021
Liabilities () Assets (&3]
Share Capital 20,00,000 | Fixed Assets 30,332,222
Reserved surplus 10,00,000 | Current Assets:
Long Term Debt 9,00,000 | Inventory 9,77,778
Accounts Payable 11,00,000 | Accounts Receivables 8,00,000
Cash 1,90,000
Total 50,00,000 | Total 50,00,000
(*Note: Equity shareholders’ fund represent equity in ‘Long term debts equity ratio’. The question can
be solved assuming only share capital as ‘equity’)

» CA Dreamers the Avenger

(© 9354719404

& www.cadreamers.com




WORKING CAPITAL MANAGEMENT

WQ Limited is considering relaxing its present credit policy and is in the process of
evaluating two proposed polices. Currently, the firm has annual credit sales of Rs. 180 lakh
and Debtors turnover ratio of 4 times a year. The current level of loss due to bad debts is Rs.
6 lakh. The firm is required to give a return of 25% on the investment in new accounts
receivables. The company’s variable costs are 60% of the selling price. Given the following
information, DETERMINE which is a better Policy?

(Amount in Lakhs)

Present Proposed Policy
Policy Option | Option II
Annual credit sales (Rs.) 180 220 280
Debtors turnover ratio 4 3.2 24
Bad debt losses (Rs.) 6 18 38

[MTP April 21 (10 Marks)]

ANSWER:
Statement showing evaluation of Credit Policies

(Amount in lakhs)

Particulars Present Proposed Policy
(Rs.) (Rs.)
Option | Option Il
A | Expected Profit:
(a) Credit Sales 180 220 280
(b) Total Cost other than Bad Debts:
Variable Costs (60%) 108 132 168
(c) Bad Debts 6 18 38
(d) Expected Profit [(a)-(b)-(c)] 66 70 74
B Opportunity Cost of Investment in Debtors (Refer 6.75 10.31 17.5
workings)
C | Net Benefits [A - B] 59.25 59.69 56.5

Workings:

Recommendation: The Proposed Policy | should be adopted since the net benefits under this
policy is higher than those under other policies.

Calculation of Opportunity Cost of Investment in Debtors

Collection periodx . Rate of Return
12 100

g
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*Collection period (in months) = 12/Debtors turnover ratio

Present Policy = Rs. 108 x 12/ X = Rs. 6.75 lakhs
12 100

Proposed Policy | — Rs. 132 x 222 « 25 _ R¢.10.31 lakhs
12 100

Proposed Policy Il = Rs. 168 x 121/ > X = = Rs. 17.5 lakhs

Policy X
Average collection period 1.5 months
% of default 2%
Annual collection expenditure T 12 lakh

ANSWER:

Policy Y

1 months

1%

% 20 lakh
Selling price per unit of product is ¥ 150. Total cost per unitis ¥ 120.

Current credit terms are 2 months and percentage of default is 3%.

m Current annual sale of SKD Ltd. is ¥ 360 lakhs. It’s directors are of the opinion that
company’s current expenditure on receivables management is too high and with a view to
reduce the expenditure they are considering following two new alternate credit policies:

Current annual collection expenditure is ¥ 8 lakh. Required rate of return on investment of
SKD Ltd. is 20%. Determine which credit policy SKD Ltd. should follow.

[July 21 (5 Marks)]

(a) Statement showing the Evaluation of Credit policies (Total Approach)

Particulars Present Policy | Proposed Proposed
Policy X Policy Y
(2 Months) (1.5 Months) | (1 Months)
Zin lakhs Zin lakhs Zin lakhs
A. | Expected Profit:
(@) Credit Sales™ 360 360 360
(b) Total Cost other than Bad Debts 288 288 288
and collection expenditure (360/
150 x 120)
(c) Bad Debts 10.8 7.2 3.6
(360 x 0.03) (360 x 0.02) | (360 x 0.01)
(d) Collection expenditure 8 12 20
(e) Expected Profit [(a) — (b) — (c) — 53.2 52.8 48.4
(d)]
B. | Opportunity Cost of Investments 9.6 7.2 4.8
in Receivables (Working Note)

L7 [0
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43.6

C. | Net Benefits (A -B)

45.6

43.6

policy are higher as compared to other policies.
*Note: It is assumed that all sales are on credit.
Working Note:

Calculation of Opportunity Cost of Average Investments

Collection period

Rate of Return

Opportunity Cost = Total Cost x

12 100

Present Policy = %288 lakhs x — x = = 9.6 lakhs

Policy X = %288 lakhs x == x =~ = ¥ 7.2 lakhs
12 100

= ¥ 288 lakhs x % x 2L = % 4.8 lakhs

Policy Y 50

Alternatively

Statement showing the Evaluation of Credit policies (Incremental Approach)

Recommendation: The Proposed Policy X should be followed since the net benefits under this

Particulars Present Proposed Proposed
Policy Policy X Policy Y
(2 Months) (1.5 Months) (1 Months)
Zin lakhs Zin lakhs Zin lakhs
(a) Credit Sales* 360 360 360
(b) Cost of sales (360/150 x 120) 288 288 288
(c) Receivables (Refer Working Note) 48 36 24
(d) Reduction in receivables from - 12 24
present policy
(A) | Saving in Opportunity Cost of - 2.4 4.8
Investment in Receivables (@ 20%)
(e) Bad Debts 10.8 7.2 3.6
(360 x 0.03) (360 x 0.02) (360 x 0.01)
(B) | Reduction in bad debts from present - 3.6 7.2
policy
(f) Collection expenditure 8 12 20
(C) | Increase in Collection expenditure - 4 12
from Present policy
(D) | Net Benefits (A+B-C) 2 0

are higher as compared to other policies.
*Note: It is assumed that all sales are on credit.

Working Note:

Recommendation: The Proposed Policy X should be followed since the net benefits under this policy
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Calculation of Investment in Receivables

Collection period

= Total Cost x
12
Present Policy = ¥ 288 lakhs x % = ¥ 48 lakhs
Policy X = ¥ 288 lakhs x % = ¥ 36 lakhs
Policy Y = % 288 lakhs x — = ¥ 24 lakhs

ABC Ltd. has total sales of 10,00,000 all of which are credit sales. It has a gross profit
ratio of 25% and a current ratio of 2. The company’s current liabilities are ¥ 2,00,000.
Further, it has inventories of % 80,000, marketable securities of ¥ 50,000 and cash of 2
30,000. From the above information:

(iii) CALCULATE the average inventory, if the expected inventory turnover ratio is three
times?

(iv) Also CALCULATE the average collection period if the opening balance of debtors is
expected to be ¥ 1,50,000.

Assume 360 days a year. [MTP Oct 21 (5 Marks)]

ANSWER:

(i) Calculation of Average Inventory
Since gross profit is 25% of sales, the cost of goods sold should be 75% of the sales.
Cost of goods sold = 10,00,000 x %50 = 7,50,000

Cost of goods sold

Inventory turnover =
Average Inventory

7,50,000
Average Inventory

= 2,50,000

3

7,50,000

Average Inventory =

(i) Calculation of Average collection Period

Average Debtors
Credit Sales

Average Collection Period = x 360

Opening Debtors + Closing Debtors
2

Where, Average Debtors =

Calculation of closing balance of debtors

3 3
Current Assets (2 x 2,00,000) 4,00,000
Less: Inventories 80,000
Marketable Securities 50,000
Cash 30,000 1,60,000
Debtors Closing Balance 2,40,000

g
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1,50,000 + 2,40,000
2

1,95,000

10,00,000

= 1,95,000

Now, Average Debtors =

So, Average Collection Period = x 360 = 70.2 or 70 days

On 01 April, 2020, the Board of Directors of ABC Ltd. wish to know the amount of
working capital that will be required to meet the programme they have planned for the year.
From the following information, PREPARE a working capital requirement forecast and a
forecast profit and loss account and balance sheet:

Issued share capital % 6,00,000
10% Debentures %1,00,000
Fixed Assets %4,50,000

Production during the previous year was 1,20,000 units; itis planned that this level of activity
should be maintained during the present year.

The expected ratios of cost to selling price are: raw materials 60%, direct wages 10%
overheads 20%

Raw materials are expected to remain in store for an average of two months before issue to
production. Each unit of production is expected to be in process for one month. The time lag
in wage payment is one month.

Finished goods will stay in the warehouse awaiting dispatch to customers for approximately
three months.

Credit allowed by creditors is two months from the date of delivery of raw materials. Credit
given to debtors is three months from the date of dispatch.

Selling price is % 5 per unit.

There is a regular production and sales cycle and wages and overheads accrue evenly.
[MTP Nov 21 (10 Marks)]

ANSWER:

Forecast Profit and Loss Account for the period 01.04.2020 to 31.03.2021
Particulars 4 Particulars 3
Materials consumed 3,60,000 | By Sales 1,20,000@% 5 6,00,000
1,20,000 @ ¥ 3
Direct wages: 60,000
1,20,000 @ % 0.50
Overheads: 1,20,000
1,20,000 @ X 1
Gross profit ¢/d 60,000

6,00,000 6,00,000
Debentures interest 10,000 By gross profit b/d 60,000
(10% of 1,00,000)

Kig
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Net profit ¢/d 50,000
60,000 60,000
Working Capital Requirement Forecast for the year 01.04.2020 to 31.03.2021
Particulars Period | Total (%) Current Assets (%) Current
(Months) Liabilities ()
Raw Work-in- Finished Debtors Creditors
materials progress goods
1. Material
In store 2 60,000
In work-in- 1 30,000
progress
In finished goods 3 90,000
Credit to debtors 3 90,000
9
Less: Credit from 2 60,000
creditors
Net block period 7 2,10,000
2. Wages:
In work-in- 1/2 2,500
progress
In finished goods 3 15,000
Credit to debtors 3 15,000
62
Less: Time lag in 1 5,000
payment
Net block period 5% 27,500
3. Overheads:
In work-in- Vo 5,000
progress
In finished goods 3 30,000
Credit to debtors 3 30,000
Net block period 6% 65,000
4. Profit
Credit to debtors 3 15,000
Net block period 3 15,000
Total (%) 3,17,500 60,000 37,500 1,35,000 | 1,50,000 65,000
Forecast Balance Sheet as on 31.03.2021
) )
Issued share capital 6,00,000 | Fixed Assets 4,50,000
Profit and Loss A/c 50,000 | Current Assets:
10% Debentures 1,00,000 | Stock:

KNG
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Sundry creditors 65,000 Raw material 60,000
Bank overdraft- Work-in-progress 37,500
Balancing figure 17,500 Finished goods 1,35,000 2,32,500
Debtors 1,50,000
8,32,500 8,32,500
The Total amount of working capital, thus, stands as follows: ]
Requirement as per working capital 3,17,500
Less: Bank overdraft as per balance sheet 17,500
Net requirement 3,00,000
Notes :

1.  Average monthly production: 1,20,000 + 12 = 10,000 units

2. Average cost per month:

Raw Material 10,000 x (X 5 x 0.6) = ¥ 30,000
Direct wages 10,000 x (X 5 x 0.1) = ¥ 5,000
Overheads 10,000 x (X 5 x 0.2) = 10,000

3. Average profit per month: 10,000 x (X 5 x 0.1) = ¥ 5,000

4. Wages and overhead accrue evenly over the period and, hence, are assumed to be completely
introduced for half the processing time.

[*¥F The Alliance Ltd., a Petrochemical sector company had just invested huge amount in
its new expansion project. Due to huge capital investment, the company is in need of an
additional ¥ 1,560,000 in working capital immediately. The Finance Manger has determined
the following three feasible sources of working capital funds:

(i) Bank loan: The Company's bank will lend ¥ 2,00,000 at 15%. A 10% compensating
balance will be required, which otherwise would not be maintained by the company.

(ii) Trade credit: The company has been offered credit terms from its major supplier of
3/30, net 90 for purchasing raw materials worth ¥ 1,00,000 per month.

(ili) Factoring: A factoring firm will buy the company’s receivables of ¥ 2,00,000 per month,
which have a collection period of 60 days. The factor will advance up to 75% of the face
value of the receivables at 12% on an annual basis. The factor will also charge
commission of 2% on all receivables purchased. It has been estimated that the factor’s
services will save the company a credit department expense and bad debt expense of
1,250 and % 1,750 per month respectively.

On the basis of annual percentage cost, ADVISE which alternative should the company
select? Assume 360 days year. [RTP Nov 21]
ANSWER:

(i) Bank loan: Since the compensating balance would not otherwise be maintained, the real
annual cost of taking bank loan would be:
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= ;—E x 100 = 16.67% p.a.

(ii) Trade credit: Amount upto % 1,50,000 can be raised within 2 months or 60 days. The real
annual cost of trade credit would be:

360

= 93—7 X = x 100 = 18.56% p.a.
(iii) Factoring:
Commission charges per year = 2% X (X 2,00,000 x 12) = ¥ 48,000
Total Savings per year = (X 1,250 + % 1,750) x 12 = ¥ 36,000
Net factoring cost per year = ¥ 48,000 - % 36,000 = X 12,000

Annual Cost of Borrowing X 1,50,000 receivables through factoring would be:

12% % 1,50,000 + 12,000

= x 100
31,50,000
318,000 + 12,000
= x 100
X1,50,000
= 20% p.a.

Advise: The Company should select alternative of Bank Loan as it has the lowest annual cost i.e.
16.67% p.a.

[*X The management of Trux Company Ltd. is planning to expand its business and consults
you to prepare an estimated working capital statement. The records of the company reveals
the following annual information:

®)

Sales — Domestic at one month’s credit 18,00,000
Export at three month’s credit (sales price 10% below domestic price) 8,10,000
Materials used (suppliers extend two months credit) 6,75,000
Lag in payment of wages - 72 month 5,40,000
Lag in payment of manufacturing expenses (cash) — 1 month 7,65,000
Lag in payment of Administration Expenses — 1 month 1,80,000
Selling expenses payable quarterly in advance 1,12,500
Income tax payable in four installments, of which one falls in the next 1,68,000
financial year

Rate of gross profit is 20%. Ignore work-in-progress and depreciation.

The company keeps one month’s stock of raw materials and finished goods (each) and
believes in keeping % 2,50,000 available to it including the overdraft limit of ¥ 75,000 not yet
utilized by the company.

The management is also of the opinion to make 10% margin for contingencies on computed
figure.

© 9354719404 & www.cadreamers.com ’n:{.

» CA Dreamers the Avenger



You are required to PREPARE the estimated working capital statement for the next year.
[RTP Nov 21]
ANSWER:
Preparation of Statement of Working Capital Requirement for Trux Company Ltd.
R®) R®)
A. Current Assets
(i) Inventories:
Material (1 month)
(% 6,75,000 1 h
12 months X L mon ) 56,250
Finished goods (1 month)
X 21,60,000
( T mo“th) 180,000 2,36.250
(ii) Receivables (Debtors)
0 X15,17,586
For Domestic Sales (m x 1 month) 1.26.466
X7,64914
For Export Sales (12 s X 3 month) 1.88.729 3,15,195
(ii) Prepayment of Selling expenses
(i 112500 o 3 month) 28.125
12 months ’
(iv) Cash in hand & at bank 1,75,000
Total Current Assets 7,54,570
B. Current Liabilities:
(i) Payable (Creditors) for materials (2 months)
(¥6'75'000 X 2 months) 1.12.500
12 months T
(ii) Outstanding wages (0.5 months)
X5,40,000
(12 months X 0.5 month) 22,500
(iii)  Outstanding manufacturing expenses
(—% 765000 o 4 month) 63.750
12 months ’
(iv)  Outstanding administrative expenses
(¥ 22000 x 1 month) 15.000
12 months ’
(v) Income tax payable 42,000
Total Current Liabilities 2,55,750
Net Working Capital (A — B) 4,98,820
Add: 10% contingency margin 49,882
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Total Working Capital required

5,48,702

Working Notes:

1. Calculation of Cost of Goods Sold and Cost of Sales
Domestic () Export (%) Total ()

Domestic Sales 18,00,000 8,10,000 26,10,000
Less: Gross profit @ 20% on domestic sales 3,60,000 90,000 4,50,000
and 11.11% on export sales (Working note-2)

Cost of Goods Sold 14,40,000 7,20,000 21,60,000
Add: Selling expenses (Working note-3) 77,586 34,914 1,12,500

Cash Cost of Sales 15,17,586 7,54,914 22,72,500

2. Calculation of gross profit on Export Sales
Let domestic selling price is X 100. Gross profit is ¥ 20, and then cost per unit is ¥ 80
Export price is 10% less than the domestic price i.e. ¥ 100 — (1- 0.1) = ¥ 90
Now, gross profit will be =% 90-380 =% 10

So, Gross profit ratio at export price will be = % x 100 = 11.11%

3. Apportionment of Selling expenses between Domestic and Exports Sales:

Apportionment on the basis of sales value:

31,12,500
326,10,000

x %8,10,000 = X 34,914

Domestic Sales = x %18,00,000 =% 77,586

31,12,500

Exports Sales = ——
%26,10,000

4. Assumption
(i) Itis assumed that administrative expenses is related to production activities.

(ii) Value of opening and closing stocks are equal.

You are given below the Profit & Loss Accounts for two years for a company:

Profit and Loss Account

Year 1 Year 2 Year 1 Year 2
) ®) ) ®)
To Opening Stock 32,00,000 | 40,00,000 | By Sales 3,20,00,000 | 4,00,00,000
To Raw Materials 1,20,00,000 | 1,60,00,000 | By Closing stock 40,00,000 | 60,00,000
To Stores 38,40,000 | 48,00,000 | By Misc.Income 4,00,000 4,00,000
To Manufacturing 51,20,000 64,00,000
Expenses
To Other Expenses 40,00,000 40,00,000
To Depreciation 40,00,000 40,00,000

g
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To Net Profit 42,40,000

3,64,00,000

72,00,000
4,64,00,000

3,64,00,000 | 4,64,00,000

Sales are expected to be X 4,80,00,000 in year 3.

As a result, other expenses will increase by % 20,00,000 besides other charges. Only raw
materials are in stock. Assume sales and purchases are in cash terms and the closing stock
is expected to go up by the same amount as between year 1 and 2. You may assume that no
dividend is being paid. The Company can use 75% of the cash generated to service a loan.
COMPUTE how much cash from operations will be available in year 3 for the purpose?

Ignore income tax. [RTP May 22]
ANSWER:
Projected Profit and Loss Account for the year 3
Particulars Year 2 Year 3 Particulars Year 1 Year 3
Actual Projected Actual Projected
(Rin lakhs) | (R inlakhs) (R inlakhs) | (Rinlakhs)
To Materials consumed 140.00 168.00 By Sales 400.00 480.00
To Stores 48.00 57.60 By Misc. Income 4.00 4.00
To Mfg. Expenses 64.00 76.80
To Other expenses 40.00 60.00
To Depreciation 40.00 40.00
To Net Profit 72.00 81.61
404.00 484.00 484.00 484.00
Cash Flow:
Particulars (X in lakhs)
Profit 81.60
Add: depreciation 40.00
121.60
Less: Cash required for increase in stock 20.00
Net cash inflow 101.60

Available for servicing the loan: 75% of ¥ 1,01,60,000 or % 76,20,000

Working Notes:

(i) Material consumed in year 1 = (32 + 120 — 40)/320 = 35%
Material consumed in year 2 = (40 + 160 — 60)/400 = 35%

Likely consumption in year 3 = 480 X % = ¥ 168 (lakhs)

(ii) Stores are 12% of sales & Manufacturing expenses are 16% of sales for both the years.
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[fX:} A factoring firm has offered a company to buy its accounts receivables.
The relevant information is given below.

(i) The current average collection period for the company’s debt is 80 days and 2 % of
debtors default. The factor has agreed to pay over money due to the company after 60
days and it will suffer all the losses of bad debts also.

(i) Factor will charge commission @ 2%.

(iii) The company spends X 1,00,000 p.a. on administration of debtor. These are avoidable
cost.

(iv) Annual credit sales are X 90 lakhs. Total variable costs is 80% of sales. The company’s
cost of borrowing is 15% per annum. Assume 365 days in a year.

Should the company enter into agreement with factoring firm? [Dec 21 (5 Marks)]
ANSWER:
Particulars )
A. | Annual Savings (Benefit) on taking Factoring Service
Cost of credit administration saved 1,00,000
Bad debts avoided (% 90 lakh x ¥2%) 45,000
Interest saved due to reduction in average collection period [ ¥ 90 lakh x 59,178
0.80 x 0.15 x (80 days — 60 days)/365 days]
Total 2,04,178
B. | Annual Cost of Factoring to the Firm:
Factoring Commission [ 90 lakh x 2%] 1,80,000
Total 1,80,000
C. | Net Annual Benefit of Factoring to the Firm (A - B) 24,178

Advice: Since savings to the firm exceeds the cost to the firm on account of factoring, therefore, the
company should enter into agreement with the factoring firm.
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IMPORTANT THEORY

[Nov 2020]
(a) List out the role of Chief Financial Officer in today's World. (4 Marks)
(b) Explain in brief the methods of Venture Capital Financing. (4 Marks)
(c) Distinguish between Unsystematic Risk & Systematic Risk. (2 Marks)
OR
What is Risk Adjusted Discount Rate? (2 Marks)
ANSWER:

(a) Role of Chief Financial Officer (CFO) in Today’s World: Today, the role of chief financial
officer, or CFO, is no longer confined to accounting, financial reporting and risk management.
It’s about being a strategic business partner of the chief executive officer, or CEO. Some of the
role of a CFO in today’s world are as follows-

e Budgeting

e Forecasting

e Managing M&As

e Profitability analysis (for example, by customer or product)
e  Pricing analysis

e Decisions about outsourcing

e Overseeing the IT function.

e Overseeing the HR function.

e Strategic planning (sometimes overseeing this function).
e Regulatory compliance.

e Risk management

(b) Methods of Venture Capital Financing: Some common methods of venture capital financing are
as follows-

(i) Equity financing: The venture capital undertakings generally require funds for a longer
period but may not be able to provide returns to the investors during the initial stages.
Therefore, the venture capital finance is generally provided by way of equity share capital.
The equity contribution of venture capital firm does not exceed 49% of the total equity
capital of venture capital undertakings so that the effective control and ownership remains
with the entrepreneur.

(ii) Conditional loan: A conditional loan is repayable in the form of a royalty after the venture
is able to generate sales. No interest is paid on such loans. In India venture capital financiers
charge royalty ranging between 2 and 15 per cent; actual rate depends on other factors of
the venture such as gestation period, cash flow patterns, risk and other factors of the
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enterprise. Some Venture capital financiers give a choice to the enterprise of paying a high
rate of interest (which could be well above 20 per cent) instead of royalty on sales once it
becomes commercially sound.

(iii) Income note: It is a hybrid security which combines the features of both conventional
loan and conditional loan. The entrepreneur has to pay both interest and royalty on sales
but at substantially low rates. IDBI’s VCF provides funding equal to 80 — 87.50% of the
projects cost for commercial application of indigenous technology.

(iv) Participating debenture: Such security carries charges in three phases — in the start-up
phase no interest is charged, next stage a low rate of interest is charged up to a particular
level of operation, after that, a high rate of interest is required to be paid.

(c) (i) Unsystematic Risk: This is also called company specific risk as the risk is related with the
company’s performance. This type of risk can be reduced or eliminated by diversification
of the securities portfolio. This is also known as diversifiable risk.

(ii) Systematic Risk: It is the macro-economic or market specific risk under which a company
operates. This type of risk cannot be eliminated by the diversification hence, it is non-
diversifiable. The examples are inflation, Government policy, interest rate etc.

OR

Risk Adjusted Discount Rate: A risk adjusted discount rate is a sum of risk-free rate and risk
premium. The Risk Premium depends on the perception of risk by the investor of a particular
investment and risk aversion of the Investor.

So, Risks adjusted discount rate = Risk free rate+ Risk premium.

Q.2: [Jan 2021

(a) State four tasks involved to demonstrate the importance of good Financial

Management. (4 Marks)

(b) Explain Electronic Cash Management System. (4 Marks)

(c) Define Internal Rate of Return (IRR) (2 Marks)
OR

Explain in brief the following bonds:
(i) Callable Bonds
(ii) Puttable Bonds

ANSWER:

(a) The best way to demonstrate the importance of good financial management is to
describe some of the tasks that it involves:

e Taking care not to over-invest in fixed assets
o Balancing cash-outflow with cash-inflows

o Ensuring that there is a sufficient level of short-term working capital
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e  Setting sales revenue targets that will deliver growth
o Increasing gross profit by setting the correct pricing for products or services

e  Controlling the level of general and administrative expenses by finding more cost-efficient
ways of running the day-to-day business operations, and

e Tax planning that will minimize the taxes a business has to pay.

(b) Electronic Cash Management System: Most of the cash management systems now-a-days
are electronically based, since ‘speed’ is the essence of any cash management system.
Electronically, transfer of data as well as funds play a key role in any cash management system.
Various elements in the process of cash management are linked through a satellite. Various places
that are interlinked may be the place where the instrument is collected, the place where cash is
to be transferred in company’s account, the place where the payment is to be transferred etc.

(c) Internal rate of return: Internal rate of return for an investment proposal is the discount rate
that equates the present value of the expected cash inflows with the initial cash outflow.

OR

(i) Callable bonds: A callable bond has a call option which gives the issuer the right to redeem
the bond before maturity at a predetermined price known as the call price (Generally at a
premium).

(ii) Puttable bonds: Puttable bonds give the investor a put option (i.e. the right to sell the
bond) back to the company before maturity.

(i) "Profit Maximization cannot be the sole objective of a company”. COMMENT.

(ii) DISCUSS the advantages and disadvantages of raising funds by issue of preference
shares. [RTP May 2021]

ANSWER:

(i) Following are the reasons due to which Profit Maximization cannot be the sole objective
of a company:

(a) The term profit is vague. It does not clarify what exactly it means. It conveys a
different meaning to different people. For example, profit may be in short term or long-
term period; it may be total profit or rate of profit etc.

(b) Profit maximisation has to be attempted with a realisation of risks involved. There
is a direct relationship between risk and profit. Many risky propositions yield high profit.
Higher the risk, higher is the possibility of profits. If profit maximisation is the only goal,
then risk factor is altogether ignored. This implies that finance manager will accept highly
risky proposals also, if they give high profits. In practice, however, risk is very important
consideration and has to be balanced with the profit objective.

(c) Profit maximisation as an objective does not take into account the time pattern of
returns. Proposal A may give a higher amount of profits as compared to proposal B, yet
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if the returns of proposal A begin to flow say 10 years later, proposal B may be preferred
which may have lower overall profit but the returns flow is more early and quick.

(d) Profit maximisation as an objective is too narrow. It fails to take into account the social
considerations as also the obligations to various interests of workers, consumers, society, as
well as ethical trade practices. If these factors are ignored, a company cannot survive for
long. Profit maximization at the cost of social and moral obligations is a short sighted policy.

(ii) Advantages and disadvantages of raising funds by issue of preference shares
Advantages

(i) No dilution in EPS on enlarged capital base — On the other hand if equity shares are issued
it reduces EPS, thus affecting the market perception about the company.

(ii) There is also the advantage of leverage as it bears a fixed charge (because companies are
required to pay a fixed rate of dividend in case of issue of preference shares). Non-payment
of preference dividends does not force a company into liquidity.

(iii) There is no risk of takeover as the preference shareholders do not have voting rights except
where dividend payment are in arrears.

(iv) The preference dividends are fixed and pre-decided. Hence preference shareholders cannot
participate in surplus profits as the ordinary shareholders can except in case of participating
preference shareholders.

(v) Preference capital can be redeemed after a specified period.
Disadvantages

(i) One of the major disadvantages of preference shares is that preference dividend is not tax
deductible and so does not provide a tax shield to the company. Hence, preference shares
are costlier to the company than debt e.g. debenture.

(ii) Preference dividends are cumulative in nature. This means that if in a particular year
preference dividends are not paid they shall be accumulated and paid later. Also, if these
dividends are not paid, no dividend can be paid to ordinary shareholders. The non-
payment of dividend to ordinary shareholders could seriously impair the reputation of the
concerned company.

[*¥} DISCUSS the advantages of Certainty Equivalent Method.  [MTP March 2021 (2 Marks)]

ANSWER:
Advantages of Certainty Equivalent Method:
1. The certainty equivalent method is simple and easy to understand and apply.

2. It can easily be calculated for different risk levels applicable to different cash flows. For example,
if in a particular year, a higher risk is associated with the cash flow, it can be easily adjusted and
the NPV can be recalculated accordingly.

Q.5 [MTP March 2021]

(a) DISCUSS the advantages and disadvantages of Wealth maximization principle.
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(b) DISCUSS in brief the characteristics of Debentures. (4 Marks)
(c) DEFINE Security Premium Notes. (2 Marks)
Or

ANSWER:

(a)

(b)

(c)

(4 Marks)

DEFINE Masala bond.

Advantages and disadvantages of Wealth maximization principle.

Advantages:

(i) Emphasizes the long term gains
(ii) Recognises risk or uncertainty
(iii) Recognises the timing of returns
(iv) Considers shareholders’ return.

Disadvantages:

(i) Offers no clear relationship between financial decisions and share price.
(ii) Can lead to management anxiety and frustration.
Characteristics of Debentures are as follows:

e Normally, debentures are issued on the basis of a debenture trust deed which lists the terms
and conditions on which the debentures are floated.

e Debentures are either secured or unsecured.
e May or may not be listed on the stock exchange.

e The cost of capital raised through debentures is quite low since the interest payable on
debentures can be charged as an expense before tax.

e From the investors' point of view, debentures offer a more attractive prospect than the
preference shares since interest on debentures is payable whether or not the company makes
profits.

e Debentures are thus instruments for raising long-term debt capital.

e The period of maturity normally varies from 3 to 10 years and may also increase for projects
having high gestation period.

Secured Premium Notes: Secured Premium Notes is issued along with a detachable warrant
and is redeemable after a notified period of say 4 to 7 years. The conversion of detachable
warrant into equity shares will have to be done within time period notified by the company.

OR

Masala bond: Masala (means spice) bond is an Indian name used for Rupee denominated bond
that Indian corporate borrowers can sell to investors in overseas markets. These bonds are issued
outside India but denominated in Indian Rupees. NTPC raised Rs. 2,000 crore via masala bonds
for its capital expenditure in the year 2016.
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Q.6: [MTP April 2021]
(@) EXPLAIN in brief the features of Commercial Paper.

(b) DESCRIBE how agency problem can be addressed.
(c) DEFINE Debt Securitisation.
Or
EXPLAIN the principles of “Trading on equity”. [4+4 +2=10Marks]

ANSWER:

(@) A Commercial Paper is an unsecured money market instrument issued in the form of a
promissory note. The Reserve Bank of India introduced the commercial paper scheme in the year
1989 with a view to enabling highly rated corporate borrowers to diversify their sources of short-
term borrowings and to provide an additional instrument to investors. Subsequently, in addition
to the Corporate, Primary Dealers and All India Financial Institutions have also been allowed to
issue Commercial Papers. Commercial papers are issued in denominations of Rs. 5 lakhs or
multiples thereof and the interest rate is generally linked to the yield on the one-year government
bond.

(b) Agency problem between the managers and shareholders can be addressed if the interests of
the managers are aligned to the interests of the share- holders. It is easier said than done.
However, following efforts have been made to address these issues:

e Managerial compensation is linked to profit of the company to some extent and also with
the long term objectives of the company.

e Employee is also designed to address the issue with the underlying assumption that
maximisation of the stock price is the objective of the investors.

e Effecting monitoring can be done.

(c) Debt Securitisation is a process in which illiquid assets are pooled into marketable securities
that can be sold to investors. The process leads to the creation of financial instruments that
represent ownership interest in, or are secured by a segregated income producing asset or pool
of assets. These assets are generally secured by personal or real property such as automobiles,
real estate, or equipment loans but in some cases are unsecured.

OR

The use of long-term fixed interest-bearing debt and preference share capital along with equity
share capital is called financial leverage or trading on equity. The use of long-term debt increases
the earnings per share if the firm yields a return higher than the cost of debt. The earnings per
share also increase with the use of preference share capital but due to the fact that interest is
allowed to be deducted while computing tax, the leverage impact of debt is much more.
However, leverage can operate adversely also if the rate of interest on long-term loan is more
than the expected rate of earnings of the firm. Therefore, it needs caution to plan the capital
structure of a firm.

[July 2021]
(a) Explain in brief the forms of Post Shipment Finance. (4 Marks)
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(b) Describe the salient features of FORFAITING. (4 Marks)

(c) List out the steps to be followed by the manager to measure and maximize the

Shareholder's Wealth (2 Marks)
OR
Explain the limitations of Average Rate of Return. (2 Marks)
ANSWER:

(a) Post-shipment Finance: It takes the following forms:

(a) Purchasel/discounting of documentary export bills: Finance is provided to exporters
by purchasing export bills drawn payable at sight or by discounting usance export bills
covering confirmed sales and backed by documents including documents of the title of
goods such as bill of lading, post parcel receipts, or air consignment notes.

(b) E.C.G.C. Guarantee: Post-shipment finance, given to an exporter by a bank through
purchase, negotiation or discount of an export bill against an order, qualifies for post-
shipment export credit guarantee. It is necessary, however, that exporters should obtain a
shipment or contracts risk policy of E.C.G.C. Banks insist on the exporters to take a contracts
shipments (comprehensive risks) policy covering both political and commercial risks. The
Corporation, on acceptance of the policy, will fix credit limits for individual exporters and
the Corporation’s liability will be limited to the extent of the limit so fixed for the exporter
concerned irrespective of the amount of the policy.

(c) Advance against export bills sent for collection: Finance is provided by banks to
exporters by way of advance against export bills forwarded through them for collection,
taking into account the creditworthiness of the party, nature of goods exported, usance,
standing of drawee, etc.

(d) Advance against duty draw backs, cash subsidy, etc.: To finance export losses
sustained by exporters, bank advance against duty draw-back, cash subsidy, etc., receivable
by them against export performance. Such advances are of clean nature; hence necessary
precaution should be exercised.

(b) The Salient features of forfaiting are:
e It motivates exporters to explore new geographies as payment is assured.
e An overseas buyer (importer) can import goods and services on deferred payment terms.

e The exporter enjoys reduced transaction costs and complexities of international trade
transactions.

e The exporter gets to compete in the international market and can continue to put his
working capital to good use to scale up operations.

e  While importers avail of forfaiting facility from international financial institutions in order to
finance their imports at competitive rates.

(c) For measuring and maximising shareholders’ wealth, manager should follow:

Cash Flow approach not Accounting Profit

Cost benefit analysis
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Application of time value of money.
OR
Limitations of Average Rate of Return

»  The accounting rate of return technique, like the payback period technique, ignores the
time value of money and considers the value of all cash flows to be equal.

»  The technique uses accounting numbers that are dependent on the organization’s choice
of accounting procedures, and different accounting procedures, e.g., depreciation
methods, can lead to substantially different amounts for an investment’s net income and
book values.

» The method uses net income rather than cash flows; while net income is a useful
measure of profitability, the net cash flow is a better measure of an investment’s
performance.

»  Furthermore, inclusion of only the book value of the invested asset ignores the fact that a
project can require commitments of working capital and other outlays that are not
included in the book value of the project.

(a) DISCUSS the point that demonstrates the Importance of good financial management.

(b) EXPLAIN some common methods of Venture capital financing. [RTP_Nov 2021]

ANSWER:
(a) Points that demonstrate the "Importance of good financial management":
= Taking care not to over-invest in fixed assets
= Balancing cash-outflow with cash-inflows
= Ensuring that there is a sufficient level of short-term working capital
= Setting sales revenue targets that will deliver growth
» Increasing gross profit by setting the correct pricing for products or services

= Controlling the level of general and administrative expenses by finding more cost-efficient
ways of running the day-to-day business operations, and

= Tax planning that will minimize the taxes a business has to pay.
(b) Some common methods of venture capital financing are as follows:

(i) Equity financing: The venture capital undertakings generally require funds for a longer
period but may not be able to provide returns to the investors during the initial stages.
Therefore, the venture capital finance is generally provided by way of equity share capital.
The equity contribution of venture capital firm does not exceed 49% of the total equity
capital of venture capital undertakings so that the effective control and ownership remains
with the entrepreneur.

(ii) Conditional loan: A conditional loan is repayable in the form of a royalty after the venture
is able to generate sales. No interest is paid on such loans. In India venture capital financiers
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charge royalty ranging between 2 and 15 per cent; actual rate depends on other factors of
the venture such as gestation period, cash flow patterns, risk and other factors of the
enterprise. Some Venture capital financiers give a choice to the enterprise of paying a high
rate of interest (which could be well above 20 per cent) instead of royalty on sales once it
becomes commercially sound.

(iii) Income note: It is a hybrid security which combines the features of both conventional loan
and conditional loan. The entrepreneur has to pay both interest and royalty on sales but at
substantially low rates. IDBI’s VCF provides funding equal to 80 — 87.50% of the projects
cost for commercial application of indigenous technology.

(iv) Participating debenture: Such security carries charges in three phases — in the start-up
phase no interest is charged, next stage a low rate of interest is charged up to a particular
level of operation, after that, a high rate of interest is required to be paid.

» CA Dreamers the Avenger © 9354719404 & www.cadreamers.com ’m__{.




